A B A" £ ,AF

ViewSonic wew.
> ViewBoard IFP50-3 series

Commercial Touch Display

Quick Start Guide
Startvejledning

Snelle gebruikshandleiding
Pikakdaynnistysopas

Guide de démarrage rapide
Schnellstartanleitung
Panduan Ringkas
Hurtigstartveiledning
Skrécona instrukcja obstugi
KpaTKoe pykoBoAacCTBO
Guia rapida de inicio
Snabbstartsguide
Allaauduaiuta

2o Muix

R 3= A P9 it

D949 9R2— AL F

Hizh Baslangi¢ Kilavuzu

& ) Jaadal) Jala



> Package Contents

o
(%2}

e Power cable (ship by region) e RS232 adapter a

e Remote control e Clamp x5 e

e AAA battery x 2 e Camera Plate

e USB cable ® Screw

e Touch Pen @ Signal cable compatible with

e Quick start guide HDMI

r

0000go
00003
000000
X
N

o0
ol
o0

Q
0
0

-
©)
(-

9000|C20

0000|o o (]
0000 >0

AS'T
AS'T

~

[

A2

AP




> Wall Mount Kit Specifications (VESA)

I
n
=
— O
2
w
Il
N
=
e B il
|
i
ecly
Ig @
| A
|
I — h—
inch VESA Spec. (A x B) Standard Screw (C x D) Quantity
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ 0000|800 0 = ]
-—E—E»-E-B*Ela—-—-—&a—e-—i—-a—a—e:&—-—-
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
KR
% ]
9 S
: /




> Installation Environment Attention

—

X

|

—

—




> Control Panel Overview
©® 0 6 © 060 66 6 0 o0 o0
1 1 71 1 1 1

O ® 60 @ @ @ sk

Description

I
(%]
—
O
2
w

8
3

Press the key to turn on the device
Press the key to turn off/on the display backlight only
Press and hold the key to turn off the device

Back to Embedded player main interface

Return to Embedded player previous level

Call up function menu

Decrease volume

Increase volume

USB port for Embedded Player and internal PC

Receives signals from the remote control

0000000 O

> 1/0 port

Optional Slot in PC
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Touch 1 for HDMI1 & HDMI2

Optional Wifi module
LB-WIFI-001




> Remote Control Overview

00

Press to turn the display
ON/OFF

0 <«
Mute / Unmute
@® DisPLAY

Display information of the
current input source

© rMODE

Blank screen

© FrEEZE
Freeze screen

e Numeric button
Numeric input button
© -/—/AT+TAB

Press to switch between
PC applications

O o

Numeric input button

© o /AT

Close current PC window

@ NPUT

Source selection button
@® WMENU

Press to display Menu

@ ReED+ALT

Screen capture

@® GREEN:TAB

PC ‘Tab’ button

@ YELLOW+DESKTOP
Switch to slot in PC desktop
@ BLUE+BACKSPACE
PC ‘Backspace’ button

@ START/D.MENU
PC ‘Windows’ button

® B/DTITLE
PC ‘Menu’ button

® A

Press to scroll up

® <

Press to scroll left

D>

Press to scroll right

2108 4

Press to scroll down

@ ENTER

Enter button. Press it to
select options.

@ /D uss
Writing software startup

@) ESC/EXIT/D.SETUP

Shortcut button to exit
dialog boxes

@& EpPG

Back

@ FAV/ SPACE
PC ‘Space’ button
@) CH.+/CH.-

CH+ : PC previous page
CH- : PC next page

@ voL+/voL-

Increase / Decrease volume

@ F1

Windows F1 Function

@ r2

Windows F2 Function

QP r3

Windows F3 Function

@ F4

Windows F4 Function

@ Fs5

Windows F5 Function

@ Fe

Windows F6 Function

@ F7

Windows F7 Function

@ Fs

Windows F8 Function

@ Fo

Windows F9 Function

@ F10

Windows F10 Function

@ F11

Windows F11 Function

@ F12

Windows F12 Function

® 660 060666 6600 @8

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O

I
0
=
O
2
i




> Connecting an External PC

1. Todisplay video and sound from an external PC follow the instructions below:
Note: External PCs can also be connected to the display via HDMI cable.
e Connect a VGA cable (15-pin) from your external PC to the VGA IN port on the display.
e Connect an audio cable from the AUDIO OUT port on your external PC to the AUDIO IN port on
the display.
2. Connect a USB cable to the external PC from the TOUCH OUT port of the display.
Note: For optimal results, select 1920x1080p as the external computer's input resolution.

=
(%]
=
)
2
w

= EEx % i =E . ‘
E TOUCH2

(0(&5) o) ! |-- 5 mmj

E VGA E

E l g

,  AUDIOIN |

___________

> RS232 Connections

When you use an RS232 serial port cable to connect your display to an external computer, certain
functions can be controlled by the PC, including power on/off, volume adjustment and more.

’ N Serial Port Cable

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Connecting USB Peripherals

1. USB Peripherals: Plug the USB device cable into the USB IN port.
Networking and modem cables: Plug the router cable into the LAN IN port.
3. Microphone: Plug the microphone cable into the MIC port.

N

=
(%]
=
)
2
w

USB equipment //%jﬂ[g{g{gﬁc}gggg:tga\ @ \ Router and other
= = @ ﬁ — network signal output

) ={[E)}=m

Jy e=o[G D=

= =|[E3]|H+

= [

i ==l [ [ &
i HDMI ,:
> Start to Use

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo

I
L
—
O
2
(1]




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o

ENGLISH




> Compliance Statement

FCC Compliance Statement: This device complies with part 15 of FCC Rules. Operation is subject to the
following two conditions: (1) this device may not cause harmful interference, and (2) this device must
accept any interference received, including interference that may cause undesired operation.

Industry Canada ICES-003 Compliance: CAN ICES-3 (B)/NMB-3(B)

=
(%]
=
)
2
w

@ ViewSonic Corporation (US/Canada/Latin America)

L1 : www.viewsonic.com/support/product-registration

a United States

T 1-800-688-6688
£ customerservice@viewsonic.com

Canada
T 1-866-463-4775

Q’ customerservice@viewsonic.com

Puerto Rico & Virgin Islands
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latin America
&= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

. ) ) IFP50-3 series_QSG_1b_ENG_20200210
ViewSonic Support Center Optional Accessory Copyright © 2019 ViewSonic Corporation. All rights reserved.



> Pakkens indhold

e Stromkabel (leveres i henhold
til region)

® Fjernbetjening

e AAA-batterier x 2

e USB-kabel

e Touch-pen

e Startvejledning

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

AS‘T

[

D,

%\\\)’J% W

e RS232-adapter

e Klemme x 5

e Kameraplade

e Skrue

e Signalkabel, der er kompati
belt med HDMI




> Specifikationer til vaeegophaenget (VESA)

Il
N
=
e B il
|
il
ecly
i ©
| A
|
I = h—
tommer VESA-spec. (A x B) Standardskrue (C x D) Antal
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
! ax2=80 120 _ 40x2=80 1 ﬁ s 8
: | & o
G 00O éf0 0000 [ 0000|800 0 = ]
-—E—EE-B*Eﬁ—-—-—E—E—E-—i—-E—E—E:—-— -
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| |
b — o — T — § —_— S . A e - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
KR
i 05
9 S
: /




> Miljgmaessige oplysninger vedrgrende installeringen




> Oversigt over betjeningspanelet

®© 0 6 6 0 6 6 0
e —

DO ®66 @ @

Punkt

Beskrivelse

Tryk pa knappen for, at teende enheden
Tryk pa knappen for kun at slukke/teende skaermens baggrundslys
Hold knappen nede, for at slukke enheden

Tilbage til indlejret afspiller pa hovedgraenseflade

Ga tilbage til forrige niveau i den indlejrede afspiller

Opkaldsmenu

Skru ned for lydstyrken

Skru op for lydstyrken

USB-port til indlejret afspiller og intern pc

0000000 O

Modtager signaler fra fijernbetjeningen

> 1/0-port

Ekstra plads i pc’en
VPC15-WP / VPC16-WP / VPC17-WP

Tryk pa 1 for HDMI1 & HDMI2

Ekstra Wi-Fi-modul
LB-WIFI-001




> Oversigt over fjernbetjeningen

L N

Trykkes, for at
teende/slukke skaermen

0O «

Sla lyden til og fra
@ DisPLAY

Vis oplysninger om den aktuelle

indgangskilde

© rMODE

Blank skaerm

© FREEZE

Saet skeerm pa pause
0 Numeric button

Taltaster
© -/—/AT+TAB

Trykkes, for at skifte mellem
pc-programmerne

O o

Taltaster

© co /AT

Luk det aktuelle pc-vindue

@ NPUT

Knap til valg af kilde

@® MENU

Trykkes, for at se menuen

@ RED+ALT
Skeaermoptagelse

® GREEN+TAB

Knap, der virker som tasten
'Tab’ pa en pc

@ YELLOW+DESKTOP
Skift til pladsen pa
pc-skrivebordet

@ BLUE+BACKSPACE
Knap, der virker som tasten
'Tilbage’ pa en pc

@ START/D.MENU
Knap, der virker som tasten
"Windows’ pa en pc

® B /DTITLE

Knap, der virker som tasten
'"Menu’ pa en pc

® A

Trykkes, for at rulle op

® <«

Trykkes, for at rulle til venstre

D>

Trykkes, for at rulle til hgjre

2 11 4

Trykkes, for at rulle ned

@ ENTER

Enter-tast Trykkes, for at vaelge et punkt.

@ &/p.uss
Skrivning af software-opstart

@) ESC/EXIT/D.SETUP

Genvejsknap for at afslutning
af dialogbokse

@ EpPG

Tilbage
@ FAV/ SPACE

Knap, der virker som tasten
"Mellemrum’ pa en pc

@) CH.+/CH.-

Kanal+ : Forrige side pa en pc
Kanal- : Naeste side pa en pc

@ voL+/voL-
Skru op/ned for lydstyrken

@ F1

Windows F1-funktion

@ F2

Windows F2-funktion

QP r3

Windows F3-funktion

@ F4

Windows F4-funktion

€ F5

Windows F5-funktion

@ Fe

Windows F6-funktion

(35

Windows F7-funktion

@ Frs

Windows F8-funktion

@ Fo

Windows F9-funktion

@ F10

Windows F10-funktion

@ F1
Windows F11-funktion

F12
Windows F12-funktion

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Tilslutning af en ekstern pc

1. Fglg nedenstaende vejledning for at vise video og lyd fra en ekstern pc:
Bemaerk: Det er ogsa muligt, at tilslutte en ekstern pc til skeermen med et HDMI-kabel.
e Tilslut et VGA-kabel (15 stikben) fra din eksterne pc til VGA-indgangsstikket pa skeermen.
e Tilslut et lydkabel fra lydudgangsstikket pa din eksterne pc til lydindgangsstikket pa
skeermen.
2. Tilslut et USB-kabel til den eksterne pc fra TOUCH OUT-porten pa skaermen.
Bemaerk: For at opna et optimalt resultatet, skal du vaelge 1920 x 1080p som opl@sing pa den
eksterne computer.

= EEx % i =E . ‘
E TOUCH2 |

&80 Il-- % mmj

E VGA |

E l 5

. Lydindgang |

___________

> RS232-tilslutninger

Nar du bruger et RS232 serielt portkabel til at forbinde din skaerm til en ekstern computer, kan nogle af
funktionerne styres pa pc'en. Det er funktioner som taend/sluk, lydstyrkejustering og mere.

’ N Seriel portkabel

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Tilslutning til eksterne USB-enheder

1. Eksterne USB-enheder: Slut kablet fra USB-enheen til USB IN-porten.
2. Netvaerks- og modemkabler: Slut routerkablet til LAN IN-porten.
3. Mikrofon: Slut mikrofonkablet til mikrofonstikket.

USB-udstyr /é%%%%%%%%%%m% \ @ A Router og andre
== @ ﬁ — netvaerkssignaler

S =[G J=m=

Jy e=o[G D=

e={C
= =|[E3]|H+

1 == [ [ ===
i HDMI ,:
> Sadan kommer du i gang )

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




p
General
@ Embedded 0S O
\ /
Input Y
@@ »r-
Oumim  my Soemteco vowems  Fades
v
0000 e
=]
[l iulr
ViewSonic ‘0O© 0000 v oo )
( 3 )
General
Embedded 0S
Input

ViewSonic ‘000000 oo




> Overensstemmelseserklaering

Overensstemmelseserklaering fra FCC: Denne enhed overholder stk. 15 i FCC-reglerne. Driften er
underlagt fglgende to betingelser: (1) Denne enhed ma ikke forarsage skadelig interferens, og (2) denne
enhed skal acceptere enhver modtaget interferens, herunder interferens, der kan forarsage ugnsket
drift.

Overholdelse af reglerne fra Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

@ViewSonic Corporation (US/Canada/Sydamerika)

L : www.viewsonic.com/support/product-registration

g USA

T 1-800-688-6688

@ customerservice@viewsonic.com

Canada
B 1-866-463-4775

Ql customerservice@viewsonic.com

Puerto Rico og Jomfrugerne

& http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Sydamerika

@ http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

_ . _ IFP50-3-serieren_QSG_1b_DAN_20200210
ViewSonic supportcenter Ekstra tilbehgr Copyright © 2020 ViewSonic Corporation. Alle rettigheder forbeholdes.



> Inhoud van verpakking 3
2

e Stroomkabel (verzenden per e RS232-adapter é
regio) e Klem x5 oy

e Afstandsbediening e Cameraplaat Z

e AAA-batterij x 2 ® Schroef

e USB-kabel @ Signaalkabel compatibel met

e Aanraakpen HDMI

® Snelstartgids

ajala[aisle
0000R
000000
X
Y

O
O
O
O

0
0

-
©)
(-

0

0000|CO0
0000|o o (]
0000jc>0
NS'T
NS'T
V]
V]
Ny
V]
&
\@/

&




> Specificaties voor het monteren aan de muur (VESA) =
2
<
—
— oc
w
[a]
wl
2
_
N
=
o B 7
\
il
el
Ig @
| A
\
I = h—
inch VESA Spec. (A x B) Standaardschroef (C x D) Hoeveelheid
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
L
o
g (-] \
a w
: 96041 3 o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
o o0 oéfc 0000 i cooo0oéf oo o = ]
—EFE'-E-EI'-Eh—-—-—G—EFE-—*i—-E—E—E:i—-— -
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
=t — = 3 —_— e e - = = T - ]
0000 0 odo i oo0ooojfdfooo - F
T
I
% ]
9 S
: /




> Aandacht voor installatie-omgeving




> Overzicht bedieningspaneel

© 0 © © 0 6 0 @
S S S S

O O
1

CT)@L)QZD@@ [

8
3

Omschrijving

Druk op de knop om het apparaat in te schakelen

Druk op de knop en blijf drukken om het apparaat uit te schakelen

Druk op de knop om alleen de achtergrondverlichting van het display uit/in te schakelen

Terug naar hoofdinterface van ingebedde speler

Terug naar vorige niveau van ingebedde speler

Functiemenu oproepen

Volume zachter zetten

Volume harder zetten

USB-poort voor ingebouwde speler en interne PC

Ontvangt signalen van de afstandsbediening

0000000 O

> 1/0-poort

Optionele sleuf in PC
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Touch 1 voor HDMI1 & HDMI2

Optionele WiFi-module

LB-WIFI-001

(%)
o
2
<
—
o
L
o
]
2




> Overzicht afstandsbediening

00

Druk hierop om de display
AAN/UIT te zetten

0 «

Dempen / Dempen ongedaan
maken

@ DisPLAY

Geef informatie weer van de
huidige invoerbron

© rMODE
Leeg scherm

© FREEZE
Scherm pauzeren

e Numeric button
Numerieke invoerknop
© -/—/AT+TAB

Druk om te schakelen tussen
PC-toepassingen

O o

Numerieke invoerknop
© co/ALTHF4
Huidige PC-venster sluiten

@ INPUT

Bronselectieknop

@® WMENU

Druk om menu weer te geven
@ ReED+ALT

Scherm vastleggen

® GREEN+TAB
‘Tabblad’-knop PC

@ YELLOW+DESKTOP

Schakel over naar sleuf in
PC-desktop

@ BLUE+BACKSPACE
‘Backspace’-knop PC

@ START/D.MENU
‘Windows’-knop PC

® &/DpTITLE
‘Menu’-knop PC

® a

Druk om omhoog te scrollen

® <«

Druk om naar links te scrollen

D »

Druk om naar rechts te scrollen

2 11 4

Druk om omlaag te scrollen

@ ENTER

Enter-knop. Druk erop om opties
te selecteren.

@ /D uss o ®
Opstarten schrijfsoftware .
SLEEP DISPLAY P.MODE FREEZE

@ ESC/EXIT/D.SETUP

Snelkoppelingsknop voor
afsluiten dialoogvensters

@ EPG
Terug 4 6

@ FAV/ SPACE 7 )
‘Spatie’-knop PC

@) CH.+/CH.-

CH+ : Vorige pagina PC
CH- : Volgende pagina PC
@ voL+/voL-
Volume hoger/lager

@ F1

Windows F1-functie

@ r2

Windows F2-functie

QP r3

Windows F3-functie

@ F4

Windows F4-functie

& Fs5

Windows F5-functie

@ Fe

Windows F6-functie

@D F7

Windows F7-functie

@ Fs

Windows F8-functie

@ Fo

Windows F9-functie

@ Fi0

Windows F10-functie

@ F11

Windows F11-functie

@ F12

Windows F12-functie

3

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

® 660 060666 6600

00 66 6

ViewSonic

® 606060 66 6 6660 6 666 O

7]
o
2
<
P |
oc
i
(o]
w
2




> Een externe PC aansluiten

1. Voor het weergeven van video en geluid van een externe PC, volgt u de onderstaande instructies:
Opmerking: Externe Pc’s kunnen ook worden aangessloten op het display via de HDMI-kabel.
e Verbind een VGA-kabel (15 pinnen) van uw externe PC naar de VGA IN-poort op de display.
e VVerbind een audiokabel van de AUDIO OUT-poort op uw externe PC met de AUDIO IN-poort op de
display.
2. Verbind een USB-kabel met de externe PC vanaf de TOUCH OUT-poort van de display.
Opmerking: Selecteer voor optimale resultaten 1920x1080p als ingangsresolutie van de externe

computer.
B I = = j——i =1 . ‘
E TOUCH2 |
&) o (E == mmj
: VGA : k ‘
i : /ﬁ%ﬁ%@%@%&\
5 1 5 ¢ = \
. AUDIOIN |

___________

> RS232-verbindingen

Als u een seriéle RS232-poortkabel gebruikt om uw display te verbinden met een externe computer
kunnen bepaalde functies worden geregeld door de PC met inbegrip van aan/uitschakelen, volume
regelen en meer.

’ N Kabel seriepoort

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@

(%]
o
2
<
-
o
wi
o
w
2




> USB-randapparatuur aansluiten

1. USB-randapparatuur: Stop de kabel van het USB-apparaat in de USB IN-poort.
2. Netwerk- en modemkabels: Stop de kabel van de router in de LAN IN-poort.
3. Microfoon: Stop de kabel van de microfoon in de MIC-poort.

(%]
o
2
<
-
o
wi
o
w
2

(e =]

o i
USB-apparatuur /%DD \@ @ A Output van router en

andere netwerksignalen

= [E==

Jy e=o[G D=

= [
= =|[E3]|H+

r—— ==

{

S - _—— - - -

___________

> Beginnen met gebruik

ViewSonic




~

7]
(=]
2
<
o |
oc
i
(o]
w
2

ViewSonic ‘OO0 00O mw oo

| 3

IR

ViewSonic ‘O 00OO B oo




~

NEDERLANDS

General
@ Embedded 0S O
/
Input Y

CAs mI-

Owomum  my  Soesheco. voweepar  Fodes

0000

ViewSonic ‘0O 0000OO0 v om

I¢

IR

General
Embedded 0S

Input

ViewSonic ‘000000 oo




> Nalevingsverklaring

FCC-nalevingsverklaring: Dit apparaat voldoet aan Deel 15 van de FCC-voorschriften. De bediening moet
beantwoorden aan de volgende twee voorwaarden: (1) dit apparaat mag geen schadelijke ruis
veroorzaken en (2) dit apparaat dient ontvangen ruis te accepteren, inclusief ruis die ongewenste
werking kan veroorzaken.

Industry Canada ICES-003-naleving: CAN ICES-3 (B)/NMB-3(B)

(%]
(=]
2
<
-
oc
i
o
w
2

@ ViewSonic Corporation (VS/Canada/Latijns-Amerika)

L1 : www.viewsonic.com/support/product-registration

Verenigde Staten

T 1-800-688-6688
Ql customerservice@viewsonic.com

Canada
T 1-866-463-4775

Q’ customerservice@viewsonic.com

Puerto Rico & Virgin Islands
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latijns-Amerika
o= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

. _ _ _ _ IFP50-3 series_QSG_1b_DUT_20200210
ViewSonic-ondersteuningscentrum Optioneel accessoire Copyright © 2020 ViewSonic Corporation. Alle rechten voorbehouden.



> Pakkauksen sisalto

e Virtakaapeli (toimitus alueit- ® RS232-sovitin
tain) e Kiristin x 5
e Kaukosaadin e Kameralevy
e AAA-paristo x 2 ® Ruuvi
e USB-kaapeli e HDMI-yhteensopiva signaa-
e Kosketuskyna likaapeli
e Pikaopas
- —

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0000

0000

0000
AS‘T

[

\\\}\\ )JJ)J)

9.9

7S
%\\\)})}\ 3 N 4




> Seindkiinnityssarjan tekniset tiedot (VESA)

|
L
=
O —
il
B
&
i
ecly
Ig @
| A
|
| — h—
tuumaa VESA-tiedot (A x B) Vakioruuvi (C x D) Maara
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
: g §
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ 0000|800 0 = ]
—EFE'-E-EI'-Eh—-—-—G—EFE-—*i—-E—E—E:i—-—-
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
I
2 ]
9 S
: /




—

X

> Asennusymparistohuomioita

|

—

—




> Ohjauspaneelin yleiskatsaus

(8

o O O 6 6 0 0 0
r + r 1 71

5
ot o1 1
OW® @ @ @ @) ——

Nimike

Kuvaus

Paina nappainta kaynnistaaksesi laitteen
Paina nappainta kytkeaksesi paalle/pois ainoastaan nayton taustavalon
Pida nappainta painettuna kytkeaksesi laitteen pois paalta

Takaisin sisdisen soittimen paakayttoliittymaan

Paluu sisdisen soittimen edelliselle tasolle

Siirry toimintovalikkoon

Pienentdaa aanenvoimakkuutta

Suurenna aanenvoimakkuutta

USB-portti sisdiselle soittimelle ja sisdiselle PC:lle

0000000 O

Vastaanottaa signaaleita kaukosaatimesta

> 1/0-portti

Valinnainen paikka PC:ssa
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Touch 1 HDMI1:ta ja HDMI2:ta varten

Valinnainen Wifi-moduuli

LB-WIFI-001




> Kaukosaatimen leiskatsaus

00

Paina kytkeaksesi ndyton
PAALLE/POIS

0 <
Mykista / Poista mykistys
@® DisPLAY

N&yta nykyisen tuloldhteen
tiedot

© rMODE

Tyhja nayttd

© FrEEZE
Pysdyta ndyttd

e Numeric button
Numerosyottdpainike
© -/—/AT+TAB

Paina vaihtaaksesi
PC-sovellusten valilla

O o
Numerosyottdpainike
© co/ALTH4
Sulje nykyinen PC-ikkuna

@ NPUT

Lahteen valintapainike

@® WMENU

Paina nayttaaksesi valikon
@ ReED+ALT
Ruudunkaappaus

@® GREEN:TAB

PC:n Vililehtipainike

@ YELLOW+DESKTOP
Kytke tehdaksesi tilaa PC:n
tyopoydalle

@ BLUE+BACKSPACE
PC:n askelpalautinpainike
@ START/D.MENU
PC:n Windows-painike

® &/DpTITLE

PC:n Valikkopainike

® A

Paina vierittaaksesi ylos

® <

Paina vierittddksesi vasemmalle

D »

Paina vierittadksesi oikealle

2100 4

Paina vierittadksesi alas

@ ENTER

Enter-painike. Paina sita
valitaksesi valintoja.

@ /D uss
Kirjoitusohjelmiston kdynnistys
@) ESC/EXIT/D.SETUP

Pikavalintapainike
valintaikkunoista poistumiseen

@& EpPG

Takaisin

@ FAV/ SPACE
PC:n Vililyontipainike
@) CH.+/CH.-

CH+: PC:n edellinen sivu
CH-: PC:n seuraava sivu

@ voL+/voL-

Lisaa/Vahenna
aanenvoimakkuutta

@ F1

Windowsin F1-toiminto

@ r2

Windowsin F2-toiminto

@ F3

Windowsin F3-toiminto

@ F4

Windowsin F4-toiminto

(333

Windowsin F5-toiminto

@ Fe

Windowsin F6-toiminto

@® Fr7

Windowsin F7-toiminto

@ Fs

Windowsin F8-toiminto

@ Fo

Windowsin F9-toiminto

@ F10

Windowsin F10-toiminto

@ F11

Windowsin F11-toiminto

@ F12

Windowsin F12-toiminto

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Ulkoisen PC:n liittaminen

1. Toistaaksesi videota ja aanta ulkoisesta PC:sta, toimi seuraavien ohjeiden mukaisesti:
Huomautus: Ulkoiset PC:t voi liittda nayttoon myos HDMI-kaapelilla.
e Liitd VGA-kaapeli (15-nastainen) ulkoisesta PC:sta ndayton VGA IN -porttiin.
e Liita audiokaapeli ulkoisen PC:n AUDIO OUT -portista naytén AUDIO IN -porttiin.
2.  Liita USB-kaapeli ulkoiseen PC:hen naytén TOUCH OUT -porttiin.
Huomautus: Saadaksesi parhaat tulokset, valitse ulkoisen tietokoneen tuloresoluutioksi

1920x1080p.
B I == % i =E : ‘
E TOUCH2
(0582 0) 1 [ F =¥ mmj
E VGA :
E l 5
,  AUDIOIN |

___________

> RS232-yhteydet

Kun kaytat RS232-sarjaporttikaapelia ndayton liittdmiseen ulkoiseen tietokoneeseen, tiettyja toimintoja
voi ohjata PC:1la, mukaan lukien virta paalle/pois, adnenvoimakkuuden saato jne.

’ N Sarjaporttikaapeli

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> USB-oheislaitteiden liittaminen

1. USB-oheislaitteet: Liita USB-laitteen kaapeli USB IN -porttiin.
Verkko ja modeemikaapelit: Liita reititinkaapeli LAN IN -porttiin.
3. Mikrofoni: Liita mikrofonikaapeli MIC-porttiin.

N

0000

USB-laite //%:EIDDDDGEDDD A Reititin ja muut
== @ﬁ — verkkosignaalitulot

) ={[E)}=m

Jy e=o[G D=

= =|[E3]|H+

e={C

. = | [

a1

___________

> Aloita kiyttd

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




p
General
@ Embedded 0S O
\ /
Input Y
@@ »r-
Oumim  my Soemteco vowems  Fades
v
0000 e
=]
[l iulr
ViewSonic ‘0O© 0000 v oo )
( 3 )
General
Embedded 0S
Input

ViewSonic ‘000000 oo




> Yhteensopivuusilmoitus

FCC-yhdenmukaisuusilmoitus: Laite on FCC-sdantdjen osan 15 mukainen. Laitteen kayttoa koskevat
seuraavat kaksi ehtoa: (1) tdma laite saattaa aiheuttaa haitallista hairiota, ja (2) tdman laitteen tulee
vastaanottaa siihen tuleva hairio, mukaan lukien hairiot, joka voivat aiheuttaa ei-toivottuja toimintoja.
Industry Canada ICES-003 -yhdenmukaisuus: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (Yhdysvallat/Kanada/
Latinalainen Amerikka)

L1 : www.viewsonic.com/support/product-registration

Yhdysvallat

T 1-800-688-6688
g customerservice@viewsonic.com

Kanada
T 1-866-463-4775

£ customerservice@viewsonic.com

Puerto Rico ja Neitsytsaaret
@ http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latinalainen Amerikka
2 http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

IFP50-3 series_QSG_1b_FIN_20200210

ViewSonic-tukikeskus Valinnainen lisévaruste Copyright © 2020 ViewSonic Corporation. Kaikki oikeudet pidatetaan.



> Contenu de la boite

e Cable d’alimentation (varie
selon la région)

® Télécommande

e 2 piles AAA

e Cable USB

e Stylet tactile

e Guide de démarrage rapide

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

[

e Adaptateur RS232

e 5 piles Pince

@ Plaque de caméra

e Vis

e Cable de signal compatible
avec HDMI

-l
<
o)
Z
<
o
[~ 5




> Spécifications du kit de montage mural

£
<
o
2
<
oc
w

22 O

IS I

Pouces Spéc. VESA (A x B) Vis standard (C x D) Quantité
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
- mi [-] 'r!
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ D000 OO0 0o 0 = ]
-—E—E»-E-B*Ela—-—-—&a—e-—i—-a—a—e:&—-—-
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
KR
% ]
9 S
: /




> Mise en garde relative a I'environnement d'installation




> Présentation du panneau de commandes

(8

© © © 0 6 0 @
(R S

O

OB GO @ @) s

Elément

Description

Appuyez pour allumer l'appareil
Appuyez sur la touche pour désactiver/activer uniquement le rétroéclairage de I'écran
Appuyez en maintenez enfoncé pour éteindre I'appareil

Retour a l'interface principale du lecteur intégré

Revenir au niveau précédent du lecteur intégré

Menu de la fonction d'appel

Baisser le volume

Augmenter le volume

Port USB pour Embedded Player et PC interne

0000000 0

Recois les sighaux provenant de la télécommande.

> Port E/S

PC a enficher optionnel
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Tactile 1 pour HDMI1 et HDMI2

Module Wifi en option

LB-WIFI-001

]
<
o
2
<
o
[~



> Présentation de la télécommande

00

Appuyez pour allumer ou
éteindre I'écran MARCHE/ARRET

0 <«
Muet / Son
@® DisPLAY

Affichage des informations sur
la source d'entrée sélectionnée

© rMODE

Ecran vide

© FrEEZE
Ecran figé
e Numeric button

Touche de saisie numérique
© -/-—-/AT+TAB

Appuyer pour basculer entre
les applications pour ordinateur

0o

Touche de saisie numérique
© o /AT

Fermer la fenétre PC actuelle

@ INPUT

Touche de sélection de la source

@® WMENU

Appuyez pour afficher le Menu

@ ReED+ALT

Capture d'écran

® GREEN+TAB
Touche 'Onglet' PC

@ YELLOW+DESKTOP

Passer a I'emplacement sur le
bureau PC

@ BLUE+BACKSPACE
Touche 'Retour arriére' PC

@ START/D.MENU
Touche 'Windows' PC

® B /DTITLE
Touche 'Menu' PC

® A

Appuyez pour faire défiler vers
le haut

® <

Appuyez pour faire défiler vers
la gauche

D »

Appuyez pour faire défiler vers
la droite

2108 4

Appuyez pour faire défiler vers
le bas

@ ENTER

Touche Entrée. Appuyer sur cette
touche pour sélectionner des options.

i
@ & /D uss (] O

[ ]

Initialisation de I'écriture de OISPLAY  PMODE  FREEZE
logiciel L
@) ESC/EXIT/D.SETUP © 3
Touche de raccourci pour 0
quitter les boites de dialogue

4 6
@& EpPG
Retour 7 9
@ FAV/ SPACE — REESES

Touche 'Espace' PC -/-- (D)
@) CH.+/CH.-

CH+ : Page précédente PC
CH- : Page suivante PC

@ voL+/voL-

Augmenter / diminuer le volume

@ F1

Fonction F1 Windows

@ r2

Fonction F2 Windows

QP r3

Fonction F3 Windows

@ F4

Fonction F4 Windows

@ Fs5

Fonction F5 Windows

@ Fe

Fonction F6 Windows

@ F7

Fonction F7 Windows

@ Fs

Fonction F8 Windows

@ Fo

Fonction F9 Windows

@ F10

Fonction F10 Windows

@ F11

Fonction F11 Windows

@ F12

Fonction F12 Windows

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

® 660 060666 6600

00 66 6

ViewSonic

® 606060 66 6 6660 6 666 O

0
<<
o
2
<
oc
w




> Connexion d'un ordinateur externe

1. Pour afficher la vidéo et générer le son provenant d'un ordinateur externe, suivez les instructions
ci-dessous :
Remarque : Il est également possible de connecter des ordinateurs externes a I'écran a
I'aide d'un cable HDMI.
e Connectez un cable VGA (15 broches) entre I'ordinateur externe et le port VGA IN de I'écran.
e Connectez un cable audio entre le port AUDIO OUT de votre ordinateur externe et le port
AUDIO IN de I'écran.
2. Connectez un cable USB entre |'ordinateur externe et le port TOUCH OUT de I'écran.
Remarque : Pour des résultats optimaux, sélectionnez 1920x1080p comme résolution d'entrée
de l'ordinateur externe.

-l
<
o)
Z
<
o
[~ 5

= = j—=1 =1 . 1
E TACTILE2Z

(088 0 [([m- =y mmj

! VGA : = =

’ : ===\
: : == |63 |[H= jj = < — -
' AUDIOIN !

\ (ENTREE AUDIO)

> Connexions RS232

Lorsque vous utilisez un cable de port série RS232 pour connecter votre écran a un ordinateur externe,
certaines fonctions peuvent étre contrélées depuis I'ordinateur, y compris marche/arrét, le réglage du
volume.

’ N Cable de port série

D)

___________ ————\

-_-__-_
5O
o
)
o
)
2o
o
N m e ==
(_m_)




> Connexion de périphériques USB

1. Périphériques USB : Branchez le cable du périphérique USB dans le port USB IN.
Cables de réseau et de modem : Branchez le cable du routeur dans le port LAN IN.
3. Microphone : Branchez le cable du microphone dans le port MIC.

N

-l
<
o)
Z
<
o
[~ 5

Ol
 —]

Equipement USB /ﬁﬁ%ﬁ%@ﬁﬁ% \@ @ A Routeur et autres

sorties de signal réseau

S =[[E ===

Jy e=o[G D=

= [
= =|[E3]|H+

i HDMI ,:
> Commencer 'utilisation

ENTREE CA

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o

FRANCAIS




> Déclaration de conformité

Déclaration de conformité a la FCC : Cet appareil est conforme a I'article 15 des Reglements FCC. Son
utilisation est soumise aux deux conditions suivantes : (1) cet appareil ne doit pas causer d’interférence
nuisible et(2) cet appareil doit accepter toutes les interférences recues, y compris les interférences
pouvant causer un fonctionnement non souhaité.

Conformité a Industry Canada ICES-003 : CAN ICES-3 (B)/NMB-3(B)

-l
<
o
Z
<
o
[~ 5

@ ViewSonic Corporation (US/Canada/Amérique latine)

L1 . www.viewsonic.com/support/product-registration

Etats-Unis

T 1-800-688-6688
B customerservice@viewsonic.com

Canada
B 1-866-463-4775

Ql customerservice@viewsonic.com

Puerto Rico et iles Vierges
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Amérique latine
2 http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

o _ _ _ . IFP50-3 series_QSG_1b_FRN_20200210
Centre d’assistance ViewSonic Accessoire en option Copyright © 2020 ViewSonic Corporation. Tous droits réservés.



> Lieferumfang

e Netzkabel (je nach Region
unterschiedlich)

e Fernbedienung

e 2 AAA-Batterien

e USB-Kabel

e Touch-Stift

e Schnellstartanleitung

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

[

e RS232-Adapter

e Klammer x 5

e Kameraplatte

e Schraube

e Mit HDMI kompatibles
Signalkabel

I
O
(%]
-
>
w
(o]




> Wandmontageset — Spezifikationen (VESA)

I
(®}
n
-
= )
wl
(a]
I
N
=
o B i
|
i
kel
Ig @
| A
|
I — h—
Zoll VESA-Spezifikationen (A x B) Standardschraube (C x D) Menge
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
: g §
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ 0000|800 0 = A
—'E-—G-E-EI"-EI!—-—-—Cﬂ—E‘-E-—i—-E—E—E:‘—-—-—
I
B 8 —f———— I I ——— e B IR R — gl |+
i 25, |
0 “| i il
b — o — T — § —_— S . A e - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
§ 7 s
o S
: /




> Warnhinweise zur Installationsumgebung




> Bedienfeldiibersicht
©® 0 6 © 060 66 6 0 o0 o0
(S S S S SRR S S

O ® 60 @ @ @ sk

Element | Beschreibung

I
O
w)
-
o
w
(a]

Kurz driicken: Zum Einschalten des Gerates.
Taste zum alleinigen Ein-/Ausschalten der Anzeigehintergrundbeleuchtung driicken
Gedrickt halten: Schaltet das Gerat ab.

Zurick zur Hauptschnittstelle des eingebetteten Players

Zurick zur vorherigen Ebene des eingebetteten Players

Funktionsmeni aufrufen.

Verringert die Lautstarke

Erhoht die Lautstarke

USB-Port fiir Embedded Player und internen PC

Empfangt Signale der Fernbedienung.

0000000 6

> 1/0-Anschliisse

Optionaler Einsteck-PC
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Touch 1 fur HDMI1 und HDMI2

Optionales WLAN-Modul
LB-WIFI-001




> Ubersicht iiber die Fernbedienung

00

Zum Ein- oder Ausschalten
der Anzeige driicken

0O «
Stummschaltung ein / aus
@® DisPLAY

Zeigt Informationen zur
aktuellen Eingangsquelle.

© rMODE
Leeranzeige

© FrEEZE
Bildschirm einfrieren
e Numeric button
Zifferneingabetaste
© -/—/AT+TAB

Zum Umschalten zwischen
PC-Anwendungen.

[ IV

Zifferneingabetaste

© co/ALTH4

Aktuelles PC-Fenster schlieRen

@ NPUT

Quellenauswahltaste

@® WMENU

Zur Anzeige des Menls driicken
@ ReED+ALT
Bildschirmaufnahme

@® GREEN:TAB
PC-Tab-Taste

@ YELLOW+DESKTOP

Zum Einsteck-PC-Desktop
wechseln

@ BLUE+BACKSPACE
PC-Backspace-Taste
@ START/D.MENU
PC-Windows-Taste

® B/DTITLE
PC-Menu-Taste

® A

Zum Hochblattern driicken

® <

Zum Linksblattern driicken

D »

Zum Rechtsblattern driicken

2100 4

Zum Herunterblattern driicken

@ ENTER

Enter-Taste. Zur Auswahl von
Optionen driicken.

@ /D uss
Scheibsoftware starten
@) ESC/EXIT/D.SETUP

Schnelltaste zum Verlassen von
Dialogfenstern

@& EpPG

Zuriick

@ FAV/ SPACE
PC-Leertaste

@) CH.+/CH.-

CH +: PC vorherige Seite
CH -: PC nachste Seite

@ voL+/voL-

Lautstdrke erhohen / verringern

@ F1

Windows-F1-Funktion

@ r2

Windows-F2-Funktion

QP r3

Windows-F3-Funktion

@ F4

Windows-F4-Funktion

@ Fs5

Windows-F5-Funktion

@ Fe

Windows-F6-Funktion

@ F7

Windows-F7-Funktion

@ Fs

Windows-F8-Funktion

@ Fo

Windows-F9-Funktion

@ F10

Windows-F10-Funktion

@ F11

Windows-F11-Funktion

@ F12

Windows-F12-Funktion

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O

I
O
(%)
-
]
w
(o]




> Einen externen PC anschlieRen

1. Bitte flhren Sie die folgenden Schritte aus, wenn Sie Bild und Ton eines externen PCs
wiedergeben mochten:
Hinweis: Sie konnen externe PCs auch per HDMI-Kabel anschlieRen.
¢ Verbinden Sie den externen PC lber ein (15-poliges) VGA-Kabel mit dem VGA-Eingang (VGA IN)
des Displays.
e Schlielen Sie den Audioausgang des externen PCs (iber ein Audiokabel an den Audioeingang
(AUDIO IN) des Displays an.
2. Verbinden Sie den externen PC per USB-Kabel mit dem Touch-Ausgang (TOUCH OUT) des
Displays.
Hinweis: Ein optimales Bild erzielen Sie, wenn Sie am PC 1920 x 1080 als Auflosung einstellen.

I
O
(%]
-
>
w
(o]

() =[P bt - :I ’ - ‘
TOUCH2
o ($5555] @) ¢+ @I 3= mmj

VGA

Audioeingang

Y ===—"\

e={[][1 )t fE== €

P LU USRI U UG U U U U Uy
S - - - - - - e - - - - - - - - - - -

___________

> RS-232-Verbindungen

Wenn Sie |hr Display Uber ein serielles RS232-Kabel mit einem externen Computer verbinden, kdnnen
Sie bestimmte Funktionen per PC steuern — beispielsweise Ein-/Ausschalten, Lautstarkeregelung und
mehr.

’ N Serielles Kabel

D)

___________ ————\

-_-__-_
5O
o
)
o
)
2o
o
N m e ==
(_m_)




> USB-Peripherie anschlieBen

1. USB-Peripherie: Verbinden Sie den USB-Stecker des Gerates mit dem USB-Port (USB IN).
2. Netzwerk- und Modemkabel: SchlieRen Sie das Router-Kabel an den LAN-Anschluss (LAN IN) an.
3. Mikrofon: Verbinden Sie den Mikrofonstecker mit dem Mikrofoneingang (MIC).

I
O
(%]
-
>
w
(o]

[
Oo00000000000000

. | s i n w -
USB-Gerate Eﬂ,ﬂﬁﬁﬁ:ﬁﬁﬁr\ua\_\ @ A Router- und andere
@ ﬁ — Netzwerksignale

S =[[E ===

Jy e=o[G D=

e={C
= =|[E3]|H+

: ==l [ == =

: HDMI ,:
> Mit der Nutzung
beginnen

ViewSonic




~

I
O
(%]
-
]
(7]
(o]

ViewSonic ‘OO0 00O mw oo

| 3

IR

ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o

DEUTSCH




> Konformitatserklarung

FCC-Erklarung: Dieses Gerat erflillt Teil 15 der FCC-Regularien. Der Betrieb unterliegt den folgenden
beiden Voraussetzungen: (1) Dieses Gerat darf keine Stérungen verursachen, und (2) dieses Gerat muss
jegliche empfangenen Stérungen hinnehmen, einschlieBlich Stérungen, die zu unbeabsichtigtem Betrieb
flihren kénnen.

Konformitat mit Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

I
O
(%]
-
>
w
(a]

@ ViewSonic Corporation (USA/Kanada/Lateinamerika)

L : www.viewsonic.com/support/product-registration

Vereinigte Staaten

T 1-800-688-6688
Ql customerservice@viewsonic.com

Kanada
B 1-866-463-4775

Q’ customerservice@viewsonic.com

Puerto Rico und Jungferninseln
& http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Lateinamerika
& http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

_ _ _ 3 IFP50-3 series_QSG_1b_DEU_20200210
ViewSonic-Kundencenter Optionales Zubehér Copyright © 2020 ViewSonic Corporation. Alle Rechte vorbehalten.



> Isi Kemasan <
Ll
e Kabel daya (dikirim berdasar- e Adaptor RS232 %
kan wilayah) e Kelem x 5 %
e Remote control @ Pelat Kamera g
e Baterai AAAx 2 e Sekrup §
e Kabel USB e Kabel sinyal yang kompatibel g
e Touch Pen dengan HDMI

e Panduan ringkas

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

[



> Spesifikasi Kit Pemasangan Dinding (VESA) <
w
2
— o
[a]
=
<
)
<
I
<
(4]
I
N
=
o B 7
\
il
el
Ig @
| A
\
I = h—
inci Spek VESA (A x B) Sekrup Standar (C x D) Jumlah
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
o
g -] \
a w
b Q601 & o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ D000 OO0 0o 0 = ]
—EFE'-E-EI'-Eh—-—-—G—EFE-—*i—-E—E—E:i—-—-
I
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
K
% ]
9 S
: /




TN I1 I1
A .= ~
T ] \
NN
- vvpbAQ
Y 4
3 >
o S —
SN

o

X X

> Perhatian Lingkungan Pemasangan



> lkhtisar Panel Kontrol
® 0 6 © 60 6 66 © o0 0
(S S S S SN S S

tt
OW® @ @ @ @) ——

Keterangan

<
(%]
i
2
o
o
=
<
(%]
<
I
<
[22]

8
3

Tekan tombol untuk menghidupkan perangkat
Tekan tombol untuk mematikan/menghidupkan lampu latar layar saja
Tekan lalu tahan tombol untuk menonaktitkan perangkat

Mundur ke antarmuka utama pemutar Tertanam

Kembali ke tingkat sebelumnya pemutar Tertanam

Panggil menu fungsi

Memperkecil volume

Memperbesar volume

Port USB untuk Pemutar Tertanam dan PC internal

Menerima sinyal dari remote control

0000000 O

> Port1/0

Slot Opsional pada PC
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Touch 1 untuk HDMI1 & HDMI2

Modul Wifi opsional

LB-WIFI-001




> Ikhtisar Remote Control

(1 JO)
Tekan untuk MENGHIDUPKAN/
MEMATIKAN layar

0 <«

Senyap/Tidak senyap
@® DisPLAY

Menampilkan informasi sumber

input saat ini
© rMODE
Layar kosong

© FrEEZE

Bekukan layar

e Numeric button
Layar hitam

© -/—/AT+TAB
Tekan untuk beralih aplikasi PC

0o

Layar hitam

© o /AT

Tutup jendela PC saat ini

@ INPUT

Tombol pemilihan sumber

@® MENU

Tekan untuk menampilkan Menu

@ ReED+ALT

Screen capture (Rekaman layar)
@® GREEN:TAB

Tombol ‘Tab’ PC

@ YELLOW+DESKTOP
Pindah ke desktop PC slot-in
@ BLUE+BACKSPACE
Tombol ‘Backspace’ PC

@ START/D.MENU
Tombol ‘Windows’ PC

® B /DTITLE
Tombol ‘Menu’ PC

® A

Tekan untuk menggulir ke atas

® <

Tekan untuk menggulir ke kiri

D »

Tekan untuk menggulir ke kanan

2108 4

Tekan untuk menggulir ke bawah

@ ENTER

Tombol Enter. Tekan untuk
memilih pilihan.

@ &/D.uss

Startup software menulis
@ ESC/EXIT/ D. SETUP

Tombol pintasan untuk keluar
dari kotak dialog

@& EpPG

Kembali

@ FAV/ SPACE
Tombol ‘Spasi’ PC
@) CH.+/CH.-

CH+ : Halaman sebelumnya PC
CH- : Halaman berikutnya PC

@ voL+/voL-

Memperbesar/Memperkecil
volume suara

@ F1

Fungsi F1 Windows

@ r2

Fungsi F2 Windows

QP r3

Fungsi F3 Windows

@ F4

Fungsi F4 Windows

@ Fs5

Fungsi F5 Windows

@ Fe

Fungsi F6 Windows

@ F7

Fungsi F7 Windows

D rs

Fungsi F8 Windows

@ Fo

Fungsi F9 Windows

@ F10

Fungsi F10 Windows

@ F11

Fungsi F11 Windows

@ F12

Fungsi F12 Windows

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O

<
(%)
i
2
o)
o
=
<
(%]
<
I
<
[22]




> Menyambungkan PC Eksternal

1. Untuk menampilkan video dan suara dari PC eksternal, ikuti petunjuk di bawah ini:
Catatan: PC Eksternal juga bisa disambungkan ke layar melalui kabel HDMI.
e Sambungkan kabel VGA (15-pin) dari PC eksternal Anda ke port VGA IN pada layar.
e Sambungkan kabel audio dari port AUDIO OUT pada PC eksternal Anda ke port AUDIO IN pada
layar.
2. Sambungkan kabel USB ke PC eksternal dari port TOUCH OUT layar.
Catatan: Untuk hasil yang optimal, pilih 1920x1080p sebagai resolusi input komputer eksternal.

<
(%]
i
2
o
o
=
<
(%]
<
I
<
[22]

= EEx % i =E . ‘
E TOUCH2

(0(&5) o) ! (== mmj

E VGA E

E l g

,  AUDIOIN |

___________

> Sambungan RS232

Ketika Anda menggunakan kabel port seri RS232 untuk menyambungkan layar Anda ke komputer ekster-
nal, fungsi-fungsi tertentu bisa dikendalikan oleh PC, termasuk daya hidup/mati, pengaturan volume,
dan banyak lagi.

¢ N Kabel port seri R$232

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Menyambungkan Periferal USB

1. Periferal USB: Colokkan kabel perangkat USB ke port USB IN.
2. Kabel jaringan dan mdem Colokkan kabel router ke port LAN IN.
3. Mikrofon: Colokkan kabel mikrofon ke port MIC.

<
(%]
i
2
o
o
=
<
(%]
<
I
<
[24]

i EEERLQ o 9 o o

S =[G J=m=

E——+H|[El=:=

e={C
= =|[E3]|H+

: ==l [ == =
i HDMI ,:
> Mulai Menggunakan

ViewSonic




~

<
(%]
i
2
o)
(=]
=
<
(%]
<
I
<
[22]

ViewSonic ‘OO0 00O mw oo

| 3

IR

ViewSonic ‘O 00OO B oo




~

General

A

@ Embedded 0S O
J

Input Y
@@ »r-
Oumim  my Soemteco vowems  Fades
= @
0000 @
:
=]
L ViewSonic ‘0O© 0000 v oo
—
General
Embedded 0S
Input

ViewSonic ‘000000 oo

BAHASA INDONESIA




> Pernyataan Kesesuaian

Pernyataan Kesesuaian FCC: Perangkat ini sesuai dengan pasal 15 Peraturan FCC. Pengoperasian harus
memenuhi dua kondisi sebagai berikut: (1) perangkat ini tidak boleh menimbulkan interferensi
berbahaya, dan (2) perangkat ini harus menerima semua interferensi yang ditangkap, termasuk
interferensi yang dapat mengakibatkan pengoperasian yang tidak diinginkan.

Kepatuha terhadap Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

<
(%]
i
2
o
(=]
=
<
(%]
<
I
<
[22]

@ ViewSonic Corporation (A.S./Kanada/Amerika Latin)

L1 . www.viewsonic.com/support/product-registration

Amerika Serikat

T 1-800-688-6688
Ql customerservice@viewsonic.com

Kanada
B 1-866-463-4775

8 customerservice@viewsonic.com

Puerto Riko & Kepulauan Virgin
& http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Amerika Latin
& http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

_ . _ IFP50-3 series_QSG_1b_IND_20200210
Pusat Dukungan ViewSonic Aksesori Tambahan Hak cipta © 2020 ViewSonic Corporation. Semua hak dilindungi undang-undang.



> Innholdet i pakken

e Strgmkabel (i henhold til e RS232-adapter
omrade) e Klemme x 5
e Fjernkontroll e Kameraplate
e AAA-batterix 2 e Skrue
e USB-kabel @ Signalkabel kompatibel med
® Bergringspenn HDMI

e Hurtigstartveiledning

ajala[aisle
0000R
000000
X
Y

Jo
03
Jo

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000
AS‘T
AS‘T

|- [
g.  -pg




> Spesifikasjoner for veggmonteringssett (VESA)

I
N
=
o B i
\
i
el
i ©
| A
\
I — h—
tomme VESA-spes. (A x B) Standardskrue (C x D) Antall
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
- mi [-] 'r!
: g §
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ D000 OO0 0o 0 = ]
—EFE'-E-EI'-Eh—-—-—G—EFE-—*i—-E—E—E:i—-—-
!
B 8 —f———— I I ——— e B IR S E— gl |+
i 25, |
0 “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
g4 :
% ]
o S
: /




= .

o

> Obs om installasjonsmiljg



> Oversikt over kontrollpanel

(8

© © © 06 6 ©
rot ot

O 0 o
{ R

1
O

W e G @ @

Element

Beskrivelse

Trykk knappen for & sla pa enheten
Trykk knappen for bare a sla av/pa baklyset pa skjermen
Trykk og hold inne knappen for & sla av enheten

Ga tilbake til hovedgrensesnittet til den innebygde spilleren

Ga tilbake til forrige niva til den innebygde spilleren

Hent funksjonsmeny

Reduser volum

@k volum

USB-port for innebygd spiller og intern PC

0000000 6

Mottar signaler fra fjernkontrollen

> 1/U-port

Valgfritt spor pa PC
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Trykk 1 for for HDMI1 og HDMI2

Valgfri Wi-Fi-modul
LB-WIFI-001




> Oversikt over fjernkontroll

00

Trykk for a sla skjermen
PA/AV

0 <«
Demp / Sla av demping
@® DisPLAY

Vis informasjon om gjeldende
inngangskilde

© rMODE

Tem skjerm

© FrEEZE

Frys skjerm

e Numeric button
Tallknapper

© -/—/AT+TAB

Trykk for & veksle mellom
PC-programmer

O o

Tallknapper

© o /AT

Lukk gjeldende PC-vindu

@ NPUT

Kildevalg-knapp

@® WMENU

Trykk for & vise meny

@ ReED+ALT
Skjermopptak

@® GREEN:TAB

PC «Tab»-knapp

@ YELLOW+DESKTOP
Bytt til spor pa PC-skrivebordet
@ BLUE+BACKSPACE
PC «Backspace»-knapp

@ START/D.MENU
PC «Windows»-knapp

® B/DTITLE

PC «Meny»-knapp

® A

Trykk for a rulle opp

® <

Trykk for a rulle til venstre

D>

Trykk for a rulle til hgyre

2108 4

Trykk for a rulle ned

@ ENTER

Enter-knapp. Trykk for a velge
alternativer.

@ /D uss
Start skriveprogramvare
@) ESC/EXIT/D.SETUP

Snarveisknapp for a avslutte
dialogbokser

@& EpPG

Tilbake

@ FAV/ SPACE

PC «Mellomrom»-knapp
@) CH.+/CH.-

Kanal +: PC forrige side
Kanal -: PC neste side

@ voL+/voL-

@k/senk volumet

@ F1

Windows F1-funksjon

@ r2

Windows F2-funksjon

QP r3

Windows F3-funksjon

@ F4

Windows F4-funksjon

@ Fs5

Windows F5-funksjon

@ Fe

Windows F6-funksjon

@ F7

Windows F7-funksjon

@ Fs

Windows F8-funksjon

@ Fo

Windows F9-funksjon

@ F10

Windows F10-funksjon

@ F11

Windows F11-funksjon

@ F12

Windows F12-funksjon

® 660 060666 6600 @8

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Koble til en ekstern PC

1. Fglginstruksjonene nedenfor for a vise video og lyd fra en ekstern PC:
Merk: Eksterne PC-er kan ogsa kobles til skiermen via HDMI-kabel.
e Koble en VGA-kabel (15-pinners) fra den eksterne PC-en til VGA IN-porten pa skjermen.
* Koble en lydkabel fra AUDIO OUT-porten pa den eksterne PC-en til AUDIO IN-porten pa skjermen.
2. Koble en USB-kabel til den eksterne PC-en fra TOUCH OUT-porten pa skjermen.
Merk: For best resultat velger du 1920x1080p som inngangsoppl@sning pa den eksterne
datamaskinen.

O W= ¥ i = . ‘

| TOUCH2 |

. CEgo ! (mi=s )

! VGA | = =)

: : Smmmae)\
| =D ¥ af[ip=e © i— >
,  AUDIOIN |

___________

> RS232-tilkoblinger

Nar du bruker en RS232-seriellportkabel for a koble skjermen til en ekstern datamaskin, kan noen
funksjoner styres av PC-en, inkludert strgm pa/av, volumjustering og mer.

’ N Seriellportkabel

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Koble til USB-utstyr

1. USB-utstyr: Sett kabelen til USB-enheten i USB IN-porten.
Nettverks- og modembkabler: Sett ruterkabelen inn i LAN IN-porten.
3. Mikrofon: Sett mikrofonkabelen inn i MIC-porten.

N

USB-utstyr /%Df_@(g{gﬁ%@f@@ﬁ?\% \ @ A Ruter og annen
== = @ ﬁ — nettverkssignalutgang

) ={[E)}=m

Jy e=o[G D=

= =|[E3]|H+

e={C

1 == [ [ ===
i HDMI ,:
> Sta rt é b ru ke Vekselstrzmang

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




p
General
@ Embedded 0S O
\ /
Input Y
@@ »r-
Oumim  my Soemteco vowems  Fades
v
0000 e
=]
[l iulr
ViewSonic ‘0O© 0000 v oo )
( 3 )
General
Embedded 0S
Input

ViewSonic ‘000000 oo




> Samsvarserklaering

FCC-samsvarserklaering: Denne enheten samsvarer med del 15 i FCC-reglene. Bruk er underlagt
fplgende to betingelser: (1) Denne enheten skal ikke forarsake skadelig interferens, og (2) denne
enheten ma godta all mottatt interferens, inkludert interferens som kan forarsake ugnsket drift.
Samsvar med Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (USA/Canada/Latinamerika)

L : www.viewsonic.com/support/product-registration

g USA

T 1-800-688-6688
Ql customerservice@viewsonic.com

Canada
T 1-866-463-4775
@ customerservice@viewsonic.com

Puerto Rico og Jomfrugyene
& http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latinamerika
& http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

) . o IFP50-3 series_QSG_1b_NOR_20200210
ViewSonics stattesenter Valgfrltt tilbehgr Copyright © 2020 ViewSonic Corporation. Med enerett.



> Zawartosc¢ opakowania

e Kabel zasilajacy (dostawa e Adapter RS232
zalezy od regionu) ® Zacisk x 5
e Pilot e Ptyta kamery
e Bateria AAAx 2 e Sruba
e Kabel USB e Kabel sygnatowy jest zgodny z
e Pidro dotykowe HDMI

@ Instrukcja szybkiego
uruchomienia

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

[




> Specyfikacje zestawu do montazu na Scianie (VESA)

I
N
=
% Y
B
|
i
ecly
i ©
| A
|
I — h—
cale Specyfikacje VESA. (A x B) Standardowa s$ruba (C x D) Liczba
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
[: [-] od
40x4=160 : 520 g 40n4=160 & "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ 0000|800 0 = A
—'E-—G-E-EI"-EI!—-—-—Cﬂ—E‘-E-—i—-E—E—E:‘—-—-—
I
B 8 —f———— I I ——— e B IR R — gl |+
i 25, |
0 “| i il
b — o — T — § —_— S . A e - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
i 05
9 S
: /




> Zachowanie uwagi podczas instalacji na zewnatrz




> Przeglad panela sterowania

© 0 © © 0 6 0 @
S S S S

O O
1

CT)@L)QZD@@ [

Element | Opis

Nacisnij ten przycisk, aby wigczy¢ urzgdzenie
Nacisnij ten przycisk, aby wytaczyé/witgczy¢ tylko podswietlenie
Nacisnij i przytrzymaj ten przycisk, aby wylgczy¢ urzgdzenie

Powrdt do gtéwnego interfejsu wbudowanego odtwarzacza

Powrét do poprzedniego poziomu menu wbudowanego odtwarzacza

Przywotanie menu funkcji

Zmniejszenie gtosnosci

Zwiekszenie gtosnosci

Port USB dla wbudowanego odtwarzacza i wewnetrznego komputera PC

Odbidr sygnatow z pilota

0000000 6

> Port 1/0 (We/Wy)

VPC15-WP / VPC16-WP / VPC17-WP

USB  USB  USB HOMI

Opcjonalny komputer PC typu Slot-in Touch 2 dla HDMI2 i VGA

Touch 1 dla HDMI1 i HDMI2

Opcjonalny modut WiFi

LB-WIFI-001




> Przeglad pilota
L1 O

Naciénij, aby WtACZYC/
WYLACZYC wyswietlacz
0 <
Wyciszenie/Wytgczenie
wyciszenia

@® DisPLAY
Wyswietlanie informacji o
biezgcym zrédle wejscia
O PrMODE

Pusty ekran

© FREEZE

Zatrzymaj ekran
e Numeric button

Przycisk wprowadzania
wartosci numerycznych
© -/—/AT+TAB
Nacisnij, aby przetgczy¢
pomiedzy aplikacjami PC

O o

Przycisk wprowadzania wartosci

numerycznych

© co /AT

Zamykanie biezgcego okna PC

@ INPUT

Przycisk wyboru zrédta

® w™MeNu

Nacisnij, aby wyswietli¢ Menu
@ ReD+ALT
Przechwytywanie ekranu

® GREEN+TAB

Przycisk PC ‘Tab’

@ YELLOW+DESKTOP

Przetgczenie na zrédto
komputera PC typu Slot-in

@ BLUE+BACKSPACE
Przycisk PC ‘Backspace’
@ START/D.MENU
Przycisk PC ‘Windows’

® B /DTITLE
Przycisk PC ‘Menu’

® A

Nacisnij, aby przewingé w gore

® <

Nacisnij, aby przewingé w lewo

D »

Nacisnij, aby przewing¢ w prawo

2108 4

Nacisnij, aby przewing¢ w dot

@ ENTER

Przycisk Enter. Nacisnij w celu
wyboru opgji.

@ &/D.uss
Uruchamianie oprogramowania
do pisania

@ ESC /EXIT/ D. SETUP

Przycisk skrétu do wychodzenia z

okien dialogowych

@& Erc

Do tytu

@ FAV/ SPACE
Przycisk PC ‘Spacja’
@) CH.+/CH.-

CH+ : Poprzednia strona PC
CH- : Nastepna strona PC

@ voL+/voL-

Zwiekszenie/zmniejszenie
gtosnosci

@ F1

Funkcja F1 Windows

@ r2

Funkcja F2 Windows

@ F3

Funkcja F3 Windows

@ F4

Funkcja F4 Windows

(333

Funkcja F5 Windows

@ Fe

Funkcja F6 Windows

@® Fr7

Funkcja F7 Windows

@ Fs

Funkcja F8 Windows

@ Fo

Funkcja F9 Windows

@ F10

Funkcja F10 Windows

@ F11

Funkcja F11 Windows

@ F12

Funkcja F12 Windows

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Podtaczanie zewnetrznego komputera PC

1.

Aby wyswietli¢ wideo i dZzwiek z zewnetrznego komputera PC, nalezy wykona¢ zamieszczone ponizej

instrukcje:

Uwaga: Zewnetrzne komputery PC mozna takze podtgczy¢ do wyswietlacza kablem HDMI.

e Podfgcz kabel VGA (15-pinowy) z zewnetrznego komputera PC do ztgcza VGA IN (Wejscie VGA) na
wyswietlaczu.

e Podfgcz kabel audio od portu AUDIO OUT (Wyjscie audio) zewnetrznego komputera PC do portu
AUDIO IN (Wejscie audio) wyswietlacza.

Podtgcz kabel USB do zewnetrznego komputera PC z portu TOUCH OUT (WYyjscie sygnatu

dotykowego) wyswietlacza.

Uwaga: Dla zapewnienia optymalnych rezultatow, jako rozdzielczos¢ wejscia zewnetrznego

komputera, wybierz 1920x1080p.

(= EE= % = . ‘

E TOUCH2 :

(o (&3] 0) 1 [mmi-=1 mmj

! VGA :

’ | = ~§g§g§§§%%%%g§\
: : “'_||-|||||||'| jj H||||||-|I—-— -

. AUDIOIN |

(Wejscie audio)

[ S U

> Potgczenia RS232

Gdy do potgczenia wyswietlacza z zewnetrznym komputerem uzywany jest kabel portu szeregowego
RS232, niektérymi funkcjami mozna sterowac przez komputer PC, wigcznie z wtgczeniem/wytgczeniem
zasilania, regulacjg gto$nosci i wiece;.

’ N Kabel portu szeregowego

B Q

-_-__-_
0O
)
)
)
)
2o
o
N m e ==
(_mﬁ




> Podtaczanie peryferyjnych urzadzen USB

1. Peryferyjne urzadzenia USB: Podtgcz kabel urzgdzenia USB do portu USB IN (Wejscie USB).
2. Kable sieciowe i modemowe: Podtgcz kabel routera do portu LAN IN (Wejscie LAN).
3. Mikrofon: Podtgcz kabel mikrofonu do portu MIC (Mikrofon).

Router i inne wyjscie
sygnatu sieciowego

[aw)
Ol [=]
. [ o |
Urzadzenie USB /ﬁzjmﬂ%%m@%ﬁngﬁma

) ={[E)}=m

| ! @ 5 @ = ——— g8
i HDMI ,:
> Rozpoczecie uzywania

(Wejscie pradu zmiennego)
o

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o




> Oswiadczenie o zgodnosci

Oswiadczenie o zgodnosci z FCC: To urzadzenie jest zgodne z czescig 15 przepisow FCC. Jego dziatanie
podlega nastepujgcym dwom warunkom: (1) to urzgdzenie nie moze powodowac szkodliwych zaktocen
oraz (2) to urzadzenie musi akceptowac wszystkie odbierane zaktdcenia, wigcznie z zaktdceniami, ktére
mogg powodowacé nieoczekiwane dziatanie.

Zgodnos¢ z przepisami Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (USA/Kanada/Ameryka tacinska)

L1 . www.viewsonic.com/support/product-registration

Stany Zjednoczone

T 1-800-688-6688
Ql customerservice@viewsonic.com

Kanada
B 1-866-463-4775

8 customerservice@viewsonic.com

Portoryko i Wyspy Dziewicze
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Ameryka tacinska
& http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

o _ _ _ Seria IFP50-3 _QSG_1b_POL_20200210
Centrum obstugi ViewSonic  Akcesoria opcjonalne Copyright © 2020 ViewSonic Corporation. Wszelkie prawa zastrzezone.



> Komnnekrauma

=
=
e Kabenb nutaHus (B e ApanTtep RS232 S
COOTBETCTBMM CO ® 3a)KuUm - 5 wr. E
CTaHAAPTaMM CTPaHbl) e [1nacTMHa Kamepbl
e [ynbt Y ® BuHT
® baTtapenku Tvna AAA - 2 wrT. e CUrHanbHbIN Kabenb,
e Kabenb USB COBMECTUMbIN C
e CeHcopHoOe nepo nHTepdericom HDMI

® KpaTKoe pyKoBOACTBO

0o
O
O
0o

0000
0000
U000

O
O
O
O

Q

0
0

-
©)
(-

y

oD
oo
oD

0000
0000
0000
,\ 4

[

DS
NS

DY




> XapaKTepucTMKU KOMNIEKTa ANA KpensieHnA Ha cteHy (VESA)

=
hy
x
— (O
O
>
o
I
N
=
e B il
|
i
ecly
Ig @
| A
|
I = h—
Alom. MapameTpbl VESA (A x B) CraHgapTHbIM BUHT (C x D) Konuuecrso
IFP5550 - 55” 400 x 200 mm M8 - 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 - 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 - 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 - 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
: g §
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ 0000|800 0 = A
—'E-—G-E-EI"-EI!—-—-—Cﬂ—E‘-E-—i—-E—E—E:‘—-—-—
I
B 8 —f———— I I ——— e B IR R — gl |+
i 25, |
0 “| i il
b — o — T — § —_— S . A e - = = —E0— -
0000 0 odo i oo0ooojfdfooo - F
T
i 05
9 S
: /




> YcnoBuA yCTaHOBKU

—

X

|

—

—




> 0630p NaHenu ynpasneHus

@@éé@ [

OnucaHue

MyHKT

Haxmute gaHHyt KHOMKY A58 BKITOYEeHUS yCTponCcTBa
o HaxxmnTe gaHHYH0 KHOMKY ANS BKITFOYEHUS/OTKIOYEHNS TONMbKO NOACBETKM Aucnnest
Haxmute gaHHyt KHOMKY A58 BbIKIIOYEHUs YCTPOWCTBa

Bo3BpaT K rnaBHOMY MHTepdelicy BCTPOEHHOro NpourpbiBaTens

Bo3BpaT Ha NpeAblAyLLMii ypOBEeHb BCTPOEHHOTO NpourpbiBaTens

YMeHbLUEHMEe YPOBHA FPOMKOCTH

yBe/IMYeHne ypoBHA FPOMKOCTH

USB nopt anqa BCTpoeHHOro npourpbiBatena u BHyTpeHHero MK

° BbI30B MeHI0 PYHKLMI

e MpuHMMaeT curHanbi ¢ nynbta AY

> MopT BBOAa-BbIBOAA

[onoNHUTENbHbIN BCTPaMBaeMblit KOMMNbIOTEP
VPC15-WP / VPC16-WP / VPC17-WP

JononHUTENbHbIN MoAay b

WiFi

LB-WIFI-001

(¥}

=
S
x
O
O
>
a.




> 0630p nynbta AY

00
Haxmute ana BKAOYEHUA NN
BbIKZIIOYEHUA 3KPaHa

0O «

OTKAtoYeHMe 3BYKa / BKOYeHWe

3ByKa
@® DisPLAY

OTobpakeHne nHbopmaummn o
TEKYLLEM UCTOYHUKE BXOLHOTO
curHana

© PrMODE

MycToW aKkpaH

© FRrREEZE
Cron-kagp

e Numeric button
KHonku BBOAa umdp
© -/—/AT+TAB

HaxkmuTe ans nepekntoyeHns
MeXay NpuaoXKeHamu Ha MK

0o

KHonku BBOAA Undp

© Co/ALTH4
3aKpbITb TekyLLee okHo MK

@ INPUT

KHonka Bbl60pa MCTOYHUKa

@® WMENU

Haxmute ana otobpaxeHus
MEH10

@ ReD+ALT

3axBaT aKpaHa
@® GREEN+TAB

Knasuwa «Tab» Ha MK
@ YELLOW+DESKTOP

MepekntoyeHne NCTOYHUKA Ha
BCTpaMBaEMbIVI KomMnbroTeEp

@ BLUE+BACKSPACE
Knasuwa «Backspace» Ha MK
@ START/D.MENU
Knasuwa «Windows» Ha MK

® B/DTITLE

Knasuuwa «Menu» Ha MK

® A

HaxkmuTe 4na NpoKPYTKM BBEPX

® <

HaskmuTe 419 NPOKPYTKM BNEBO

D »

HaskmuTe 419 NPOKPYTKM BNPaBo

2100 4

HaxmuTe 1A NPOKPYTKM BHU3

@ ENTER
KHonka BBoAa. Haxknumaliite ee
ONs Bbibopa BapnaHTOB.

@ & /D.uss
3anyck MO gna nucbma

@) ESC/EXIT/D.SETUP

KHONKa-apablK 414 BbIxoAa 13
ANanoroebiX OKOH

@& EpPG

Hasag,

@ FAV/ SPACE
Knasuwa «Mpoben» MK

@) CH.+/CH.-

CH+ : Npeablaywana ctpaHunua MK 9

CH- : Cnepgytowas ctpaHuua MK
@ voL+/voL-

YsennuyeHue / ymeHblleHNe
YPOBHSA FPOMKOCTH

@ F1

®dyHKuma F1 Windows

@ r2

OyHKumna F2 Windows

QP r3

dyHKumna F3 Windows

@ F4

dyHKumna F4 Windows

@ Fs5

dyHKuma F5 Windows

@ Fe

®yHKumA F6 Windows

@ F7

®dyHKums F7 Windows

@ Fs

®dyHKums F8 Windows

@ Fo

dyHKums F9 Windows

@ F10

®dyHKuma F10 Windows

@ F11

®dyHKuma F11 Windows

@ F12

®dyHKuma F12 Windows

e

® 668 006666

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3

4 6

ALT+TAB ALT+F4q

2

5
7 8 )
-/-- 0] €D

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O

w

=
=
x
O
O
>
o




> MopknioueHue BHewHero MK

(¥}

1. [na BbiBOAa BUAEO M 3BYKa ¢ BHewHero MK BbinonHUTe cheaytowme yKasaHumsa.
MpumeuaHue: BHewHMe MK Takke moryT 6biTb NOACOEANHEHDI K ANcnaeto Yepes Kabenb HDMI.
e CoeamHuTe Kabenem VGA (15-KoHTaKTHbIM) BHelHMI MK 1 nopT VGA IN Ha ancnnee.
e CoeanHuTe ayamnokabenem nopt AUDIO OUT Ha BHewHem MK 1 nopT AUDIO IN Ha gncnnee.
2. CoepguHute Kabenem USB BHewHMM MK n nopt TOUCH OUT aucnnes.
MpumeuaHue: [1na nonyyeHma onTMMaNbHOro pesynbTaTa, Bbibepute 1920x1080p B KayecTBe
pa3pelleHmna cCurHana, NoCcTynatoLLero ¢ BHeLWHero KOMnbioTepa.

=
=
x
O
O
>
o

B I == % i =E : ‘
E TOUCH2 :

(0582 0) 1 [ F =¥ mmj

E VGA :

E l 5

| AvauoBXog, |

___________

> MoaknioueHusa RS232

Mpu ncnonb3oBaHmMn Kabena nocneposaTtenbHOro HTepderica RS232 ana coeanHeHua gucnnes c
BHELWHUM KoMnbtoTepom Yepes MK moXKHO ByaeT ynpasnAaTb HEKOTOPbIMU GYHKLUMAMM, B TOM Yncie
BK/IIOYEHMEM W BbIKNHOYEHNEM NUTAHUA, PETYIMPOBKOM YPOBHA TPOMKOCTU U Ap.

Kabenb nocneposartesibHOro NoOpTa

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> MopknoueHne nepudepuintHbix yctpoicts USB

w

1. Nepudepusa c nHtepdencom USB: BcTaBbTe Kabenb ycTponcTea ¢ uHTepdericom USB B nopTt USB IN.
2. [oaKkntoyeHue K ceTu n kabenu moaemos: noaxkNtoUnTe Kabenb OT MaplpyTmsaTopa K nopty LAN IN.
3.  MukpodoH: nogkntounTe Kabenb mmkpodoHa K nopty MIC.

=
=
x
O
O
>
a.

(e =]
o] ]

Ycrpoiicteo USB /i’gﬂjﬂ A Mapuipytusatop unu
— @ ﬁ — ApYroe ceTeBoe yCTPONCTBO

% C BbIXOA4HbIM CUTHa/IOM

) ={[E)}=m

Jy e=o[G D=

e={C
= =|[E3]|H+

: B == [ [ ===
E HDMI ':
> MoparoToBKa K paborte et

MEPEMEHHOIO TOKA)

ViewSonic




~

ViewSonic ‘OO0 00O mw oo

IR

| 3

-
N

ViewSonic ‘O 00OO B oo

),

=
S
x
(@]
o
>
o




~

w

PYCCKUU

General
@ Embedded 0S O
/
Input Y

CAs mI-

Owomum  my  Soesheco. voweepar  Fodes

0000

ViewSonic

‘0O 0000OO0 v om

I¢

IR

General
Embedded 0S

Input

ViewSonic ‘000000 oo




> CooTBeTtcTBue CTa HAapTamMm

w

CootBeTcrBue TpeboBaHuam ®PKC CLUA: [laHHOe ycTpolicTBO cooTBeTCTBYET TpebosaHuam npasun FCC,
yactb 15. Mpun ncnonb3oBaHUKM YCTPOMCTBA A0/IKHbI COBOAATLCA ABa ceayolmnx ycnosua: (1) gaHHoe
YCTPOMCTBO HE A0/IKHO BbITb UCTOYHUKOM NomeX; (2) AaHHOE YCTPOMCTBO A0/IKHO BbiTb YCTONYMBBIM K
nomexam, Co3ZaBaemMbiM ApyrMmu npubopamu, BKAKOYAA TaKME MOMEXM, KOTOPble MOTYT CTaTb
NPUYMHON ero HenpasuAbHOM PaboTbl.

CooTBeTcTBME NpoMbllaeHHOMY cTaHgapTy KaHaab! ICES-003: CAN ICES-3 (B)/NMB-3(B)

=
>
x
O
>
a.

@ Kopnopauusa ViewSonic (CLUA/ KaHaga/ /lTaTuHcKaa AmepuKa)

L] : www.viewsonic.com/support/product-registration

CLUA

T 1-800-688-6688
B customerservice@viewsonic.com

KaHapga
T 1-866-463-4775

83 customerservice@viewsonic.com

MyapTo-Puko u BuprmHckmue ocrpoBa
& http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

JTatTnHckaa Amepuka
2 http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

El e B =1 E .' H O

. ¥ i Lty ®

Ll,eHTp noanep>XxXkKu [JononHutenbHas IFP50-3 cepumn _QSG_1b_RUS_20200210
ViewSonic NpUHaONexXHOCTb Copyright © 2020 ViewSonic Corporation. Bce npaBa 3aLLuLLeHbl.



> Contenido del paquete

e Cable de alimentacion (envio por region)
e Mando a distancia

e Pila de tipo AAA x 2

e Cable USB

e Lapiz tactil

e Guia de inicio rapido

0o
O
O
0o

0000
0000
0000

Jo
03
Jo

-
©)
(-

e Adaptador RS232

e Abrazadera x5

® Placa de la cdmara

e Tornillo

e Compatible con el cable de sefial con HDMI

y

op
00
Ob

0
0
0

OO0 : :
o000
o000 < <

[

~

-
o
2
&
wv
L




> Especificaciones del kit de instalacion en pared (VESA)

-
o
2
= &
7))
w
I
N
=
o B i
\
i
el
i ©
| A
\
| — h—
Pulgada Especificaciones VESA (A x B) Tornillo estandar (C x D) Cantidad
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86" 800 x 600 mm M8 x 25 mm 4
S8
Ll'l
o
g -] \
a w
b Q601 & o
: g §
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ D000 OO0 0o 0 = A
—'E-—G-E-EI"-EI!—-—-—Cﬂ—E‘-E-—i—-E—E—E:‘—-—-—
I
B 8 —f———— I I ——— e B IR R — gl |+
i 25, |
0 “| i il
=t — = 3 —_— e e - = = T - ]
0000 0 odo i oo0ooojfdfooo - F
T
§ 7 s
o S
: /




> Atencion al entorno de instalacion

I

|||||||||||||

X

S > E
. S

|

—

—




o-

> Informacidn general del panel de Control

6
T

Elemento| Descripcion

Presione el botdn para encender el dispositivo.
Presione el botdn para apagar o encender solamente la retroiluminaciéon de la pantalla
Presione sin soltar el botdn para apagar el dispositivo.

Permite volver a la interfaz principal de Embedded player

Permite volver al nivel anterior de Embedded player.

Permite llamar a la funcion de menu.

Permite bajar el volumen.

Permite subir el volumen.

Puerto USB para Embedded Player y PC interno

Recibe las sefiales del mando a distancia.

0000000 O

> Puerto de E/S

PC con entrada de ranura opcional
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Tactil 1 para HDMI1 y HDMI2

Mdédulo Wifi opcional
LB-WIFI-001

-
]
2
=
(%)
Ll




> Informacidon general del mando a distancia

LU NC)

Presion este botdn para
ENTENDER O APAGAR la pantalla

Silencio/Desactivar silencio

@® DisPLAY

Permite mostrar informacion
de la fuente de entrada actual.

P ENTER

Botdn Intro. Presionelo para
seleccionar opciones.

@ /D uss
Inicio del software de escritura
@) ESC/EXIT/D.SETUP

Botdn de acceso directo para
salir de los cuadros de dialogo

O PNvODE &P Eerc
Pantalla en blanco Atras
© FRrEEZE @ FAV/ SPACE

Congelar pantalla

G Numeric button

Botdn de entrada numérica
© -/--/AT+TAB

Presione este botén para cambiar @ VOL+/ VOL-
entre aplicaciones de PC.

O o

Botdn de entrada numérica

© oA

Permite cerrar la ventana de
PC actual.

@ mNPUT

Botdn de seleccion de fuente

® wmeNu

Presione este botdn para
mostrar el menu.

@ ReD+ALT

Captura de pantalla

@® GREEN+TAB

Botdn ‘Tabulador’ del equipo

@ YELLOW+DESKTOP
Cambiar al escritorio del médulo
de PC de acoplamiento por ranura @ F8
@ BLUE+BACKSPACE
Botdn ‘Retroceso’ del equipo
@ START/D.MENU
Botdn ‘Windows’ del equipo

® & /DTITLE

Botdn ‘Mend’ del equipo

® A

Presionar para desplazarse
hacia arriba

® <«

Presionar para desplazarse
hacia la izquierda
Presionar para desplazarse
hacia la derecha

2100 4

Presionar para desplazarse
hacia abajo

Botdn ‘Espacio’ del equipo

@) CH.+/CH.-

Subir o bajar volumen

@ F1

Funcion F1 de Windows

@ r2

Funcidn F2 de Windows

QP r3

Funcidon F3 de Windows

@ F4

Funcidn F4 de Windows

@ Fs5

Funcion F5 de Windows

@ Fe

Funcién F6 de Windows

@ F7

Funcion F7 de Windows

Funcion F8 de Windows

@ Fo

Funcion F9 de Windows

@ F10

Funcion F10 de Windows

@ F11

Funcion F11 de Windows

@ F12

Funcién F12 de Windows

CANAL +: Pagina anterior del equipo
CANAL-: P4gina siguiente del equipo ()

I
@ O -

SLEEP DISPLAY P.MODE FREEZI

(3
0o 3

4 6
7 9

ALT+TAB ALT+F4q

(7] -/-- (a6
0
ASPECT

TAB DESKTQPE

D.TITLE

START ¥ B

>

D.SETUP

ESC/EXIT

® 668 066666

0060 66 6

ViewSonic

® 060660 66 6 6660 6 666 O

~

-
o
2
&
)
[47]




> Conectar un equipo externo

~

1. Para mostrar video y sonido desde un equipo externo, siga las instrucciones que se indican a
continuacion:
Nota: Los equipos externos también se pueden conectar a la pantalla a través del cable HDMI.
¢ Conecte un cable VGA (15 contactos) desde el equipo externo al puerto ENTRADA VGA de la
pantalla.
e Conecte un cable de audio desde el puerto SALIDA DE AUDIO del equipo externo al puerto
ENTRADA DE AUDIO de la pantalla.

2. Conecte un cable USB al equipo externo desde el puerto SALIDA TACTIL de la pantalla.
Nota: Para obtener unos resultados 6ptimos, seleccione 1920x1080p como la resolucion de
entrada del equipo externo.

- e = e e - -

-
o
2
&
wv
(Y]

VGA

e———\

)t

= =E=p % = . ‘
E TACTIL2
 eEgo | (m-—— i

S - - - - ---—-—- -

> Conexiones RS232

Cuando utilice un cable de puerto serie RS232 para conectar la pantalla a un equipo externo, determina-
das funciones se pueden controlar mediante su PC, como el encendido y apagado de la alimentacién, el
ajuste de volumen, etc.

’ N Cable de puerto serie

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Conectar periféricos USB

~

1. Periféricos USB: enchufe el cable del dispositivo USB en el puerto ENTRADA USB.

2. Cables para conexion en red y del médem: enchufe el cable del enrutador en el puerto ENTRADA
LAN.

3.  Micrdéfono: enchufe el cable del micréfono en el puerto MIC.

-
o
2
&
wv
(Y]

0000 .
i e o e Enrutador y otra salida
EqUIpo UsB /e ] 0 -
de senal de red

. = .

a1

___________

> Comenzar a usar

ENTRADA DE CA

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo

-
o
Z
5
(%]
Ll




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o

ESPANOL




> Declaracion de conformidad

~

Declaracion de cumplimiento de la FCC: Este dispositivo cumple el Apartado 15 de las normas FCC. El
funcionamiento estd sujeto a las siguientes dos condiciones: (1) este dispositivo no debera causar
interferencias perjudiciales y (2) este dispositivo deberd aceptar cualquier interferencia que reciba,
incluidas interferencias que puedan causar un funcionamiento no deseado.

Cumplimiento del estandar Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

-
o
2
&
wv
Ll

@ ViewSonic Corporation (EE. UU./Canada/América Latina)
5 . www.viewsonic.com/support/product-registration

a Estados Unidos

T 1-800-688-6688
£ customerservice@viewsonic.com

Canada
B 1-866-463-4775
8, customerservice@viewsonic.com

Puerto Rico e Islas Virgenes
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Ameérica Latina
&= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

o _ _ Serie IFP50-3_QSG_1b_ESP_20200210
Centro de soporte técnico  Accesorios opcionales Copyright © 2020 ViewSonic Corporation. Reservados todos los derechos.

de ViewSonic



> Paketets innehall

<
¥
eStromkabel (medfdljer efter region) @ RS232-adapter 2
e Fjarrkontroll e Klamma x 5 g
e AAA-batterix 2 e Kameraplatta
e USB-kabel e Skruv
® Pekpenna @ Signalkabel kompatibel med HDMI

® Snabbstartsguide

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0000

0000

0000
AS‘T




> Specifikationer for vaggmonteringssats (VESA)

<
4
7
— 2
i
>
(7
I
i
=
o B i
\
i
ety
I8 ©
| A
\
| — —
tum VESA Spec. (A x B) Standardskruv (C x D) Antal
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75” 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86" 800 x 600 mm M8 x 25 mm 4
A6
Ll'l
o
g -] \
& w
b Q601 & o
[: [-] od
40x4=160 i 520 2 40n4=160 & "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
G 00O éf0 0000 [ Dooo0 OG0 00 0 s ]
—EFE'-E-EI'-Eh—-—-—G—EFE-—*i—-E—E—E:i—-—-
I
B 8 —f———— I I ——— e B IR S E— gl |+
e 25, |
i “| i il
b — o — T — § —_— ===~~~ —- - = = —E0— -
0 00 0 0D oo0o ; oooo ol oooo - F
T
I
% ]
Q S
Z /




> Miljouppmarksamhet vid installation




> Oversikt éver kontrollpanelen

®© 0 6 ©6 0 6 6 0 0 o0
r + r 1 71

O ® 6 0 @ @

Objekt

Beskrivning

Tryck pa knappen for att sla pa enheten
Tryck pa knappen for att endast sla av/pa skarmens bakgrundsbelysning
Hall knappen intryckt for att stanga av enheten

Tillbaka till den inbyggda spelarens huvudgranssnitt

Aterga till den inbyggda spelarens féregaende niva

Funktionsmeny for uppringning

Sank volymen

Oka volymen

USB-port for inbyggd spelare och intern dator

0000000 O

Tar emot signaler fran fjarrkontrollen

> 1/0-port

Valfri kortplats i dator
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

Tryck pa 1 for HDMI1 och HDMI2

Valfri Wifi-modul
LB-WIFI-001

<
N4
]
<
L
>
(7))




> Oversikt over fjarrkontrollen

00

Tryck for att sla PA/AV skarmen

0 <
Stang av ljud/sla pa ljud
@® DisPLAY

Visa information om den
aktuella ingangskallan

© rMODE

Tom skarm

© FrEEZE

Frys skarmen

e Numeric button
Numerisk inmatningsknapp
©® -/ -—-/AT+TAB

Tryck for att vdxla mellan
PC-applikationer

O o

Numerisk inmatningsknapp

© o /AT

Stang det aktuella PC-fonstret

@ NPUT

Knapp for val av killa

@® WMENU

Tryck for att visa menyn
@ ReED+ALT

Skarmbild

@® GREEN:TAB

PC 'Flik'-knapp

@ YELLOW+DESKTOP

@ ENTER

Enter-knapp. Tryck pa den for
att valja alternativ.

@ /D uss
Starta skrivprogramvara
@) ESC/EXIT/D.SETUP

Genvagsknapp for att avsluta
dialogrutor

@& EpPG

Tillbaka

@ FAV/ SPACE
PC 'Mellanslag'-knapp
@) CH.+/CH.-

CH+ : PC foregaende sida
CH- : PC nasta sida

@ voL+/voL-

Oka/minska volymen

@ F1

Windows F1-funktion

@ r2

Windows F2-funktion

QP r3

Windows F3-funktion

@ F4

Windows F4-funktion

@ Fs5

Windows F5-funktion

@ Fe

Windows F6-funktion

@ F7

Byt till kortplats pa PC-skrivbordet Windows F7-funktion

@ BLUE+BACKSPACE
PC 'backslag'-knapp

@ START/D.MENU
PC 'Windows'-knapp

® B/DTITLE
PC 'meny'-knapp

® A

Tryck for att bladdra uppat

® <

Tryck for att bladdra till vanster

D>

Tryck for att bladdra till hoger

2108 4

Tryck for att bladdra nedat

@ Fs

Windows F8-funktion

@ Fo

Windows F9-funktion

@ F10

Windows F10-funktion

@ F11

Windows F11-funktion

@ F12

Windows F12-funktion

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O

<
4
(%)
2
Ll
>
(7}




> Ansluta en extern dator

1.  Foljinstruktionerna nedan for att visa video och ljud fran en extern dator:
Obs! Externa datorer kan ocksa anslutas till skarmen via HDMI-kabeln.
¢ Anslut en VGA-kabel (15-stift) fran din externa dator till VGA IN-porten pa skdarmen.
¢ Anslut en ljudkabel fran AUDIO OUT-porten pa din externa dator till AUDIO IN-porten pa
skarmen.
2. Anslut en USB-kabel till den externa datorn fran TOUCH OUT-porten pa skarmen.
Obs! For optimalt resultat, valj 1920 x 1080p som den externa datorns ingangsuppldsning.

<
4
7]
2
Ll
>
(7))

= EEx % i =E . ‘
E TOUCH2

(0(&5) o) ! |-- 5 mmj

E VGA E

E l g

,  AUDIOIN |

___________

> RS232-anslutningar

Nar du anvander en RS232 seriell portkabel for att ansluta din skdarm till en extern dator kan vissa funk-
tioner styras av datorn, inklusive strém pa/av, volymjustering och mer.

’ » Seriell portkabel

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Ansluta USB-kringutrustning

1.  USB-kringutrustning: Anslut USB-enhetens kabel till USB IN-porten.
Natverk och modemkablar: Anslut routerkabeln till LAN IN-porten.
3. Mikrofon: Anslut mikrofonkabeln till MIC-porten.

N

<
4
7]
2
Ll
>
(7))

USB-utrustning /%‘D:’E,m O e \ @ @ A Router och annan
- ﬁ ) g i 3
natverkssignalutgang

) ={[E)}=m

Jy e=o[G D=

= =|[E3]|H+

e={C

1 == [ [ ===
i HDMI ,:
> Borja anvanda

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo

<
=2
(%]
2
w
>
(%)




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o

SVENSKA




> Meddelande om efterlevnad

Uttalande gdllande FCC-efterlevnad: Denna enhet 6verensstammer med avsnitt 15 i FCC-reglerna.
Anvandningen ar understalld foljande tva villkor: (1) Enheten far inte orsaka skadliga stérningar och (2)
Denna enhet maste acceptera alla mottagna storningar, inklusive stérningar som kan orsaka o6nskad

funktion.
Uttalande gallande Industry Canada ICES-003-efterlevnad: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (USA/Kanada/Latinamerika)
5 . www.viewsonic.com/support/product-registration

a United States

T 1-800-688-6688
£ customerservice@viewsonic.com

Canada
T 1-866-463-4775
8, customerservice@viewsonic.com

Puerto Rico och Jungfrudarna
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latin America
&= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

_ . _ ) IFP50-3 series_QSG_1b_SWD_20200210
ViewSonic Support Center Extra tillbehor Copyright © 2020 ViewSonic Corporation. Alla rattigheter férbehalina.

<
X
(7]
2
Ll
>
(7))




> Paket icerigi

® Gig kablosu (bolgeye gore gonderilir)  ® RS232 adaptoru

e Uzaktan kumanda ® Kelepce x 5

e AAA pil x 2 e Kamera Levhasi

e USB kablosu e Vida

e Dokunmatik Kalem e HDMlI ile uyumlu sinyal kablosu

e Hizli baslangi¢ kilavuzu

0o
O
O
0o

0000
0000
0000

O
O
O
O

Q

0
0

-
©)
(-

y

op
00
Ob

0
0
0

000
000
000

[

D,

%\\\)’J% W



> Duvara Montaj Kitinin Ozellikleri (VESA)

22 O

IS I

ing VESA Ozellk. (A x B) Standart Vida (C x D) Miktar
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
g
o
g (-] \
& i
b Q601 & o
[: [+] cl\l‘l
40x4=160 i 520 2 A0ma=160 = "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
U 0008k 0000 1 CoooOo|Bfe 000 s ]
-—E—E»-E-B*Ela—-—-—&a—e-—i—-a—a—e:&—-—-
|
8l 8 ———f—— N R I B S S g |+
i 25, |
i “| i il
— - —_—— & -—{— - —-—- - = e —e— -
0 00 0 0D oo0o ; oooo ol oooo - F
T
I
% ]
Q S
: /




TN I1 I1
A .= ~
T ] \
NN
- vvpbAQ
Y 4
3 >
o S —
SN

o

X X

> Kurulum Ortami Uyarisi



> Kontrol Paneline Genel Bakis

Oge | Aciklama

Cihazi agmak igin tusa basin
Yalniz ekran arka 1s181n1 agmak/kapatmak icin tusa basin
Cihazi kapatmak igin tusu basil tutun

Katistirilmis oynatici ana arayuziine geri gidin

Katistirilmis oynatici 6nceki diizeyine geri gidin

islev menisiini goriintiileyin

Ses diizeyini azaltin

Ses diizeyini artirin

Katistiriimis Oynatici ve dahili PC igin USB baglanti noktasi

Uzaktan kumandadan sinyalleri alir

0000000 O

> G/C baglanti noktasi

Bilgisayardaki istege bagli yuva
VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

HDMI1 & HDMI2 igin Touch 1

istege bagl WiFi modili

LB-WIFI-001




> Uzaktan Kumandaya Genel Bakis

L1 O
Ekrani ACMAK/KAPATMAK
icin basin

0 <«
Sessiz / Ses Acik
@® DisPLAY

Gegerli gecerli giris kaynagi
bilgilerini géruntiile

© rMODE
Karanlik ekran
© FrEEZE
Ekrani dondur
e Numeric button
Sayisal giris dugmesi
© -/—/AT+TAB

PC uygulamalari arasinda
gecis icin basin

O o

Sayisal giris dugmesi

© o /AT

Gecerli PC penceresini kapat

@ NPUT

Kaynak se¢imi digmesi

@® WMENU

MenlyU gorintilemek igin basin

@ ReED+ALT

Ekran yakalama

@® GREEN:TAB

PC ‘Tab’ dugmesi

@ YELLOW+DESKTOP
PC masalistlindeki girise ge¢
@ BLUE+BACKSPACE
PC ‘Geri’ digmesi

@ START/D.MENU
PC ‘Windows’ digmesi

® B/DTITLE

PC ‘Meni’ digmesi

® A

Yukari kaydirmak icin basin

® <

Sola kaydirmak igin basin

D>

Saga kaydirmak icin basin

2108 4

Asagi kaydirmak icin basin

@ ENTER

Giris digmesi. Segenekleri
belirlemek igin basin.

@ /D uss

Yazilim baslatma yaziliyor

@) ESC/EXIT/D.SETUP

iletisim kutularindan ¢itkmak
icin kisayol digmesi

@& EpPG

Geri

@ FAV/ SPACE
PC ‘Bosluk’ digmesi
@) CH.+/CH.-

CH+ : PC 6nceki sayfa
CH- : PC sonraki sayfa

@ voL+/voL-
Sesi Artir / Azalt

@ F1

Windows F1 islevi

@ r2

Windows F2 islevi

QP r3

Windows F3 islevi

@ F4

Windows F4 islevi

@ Fs5

Windows F5 islevi

@ Fe

Windows F6 islevi

@ F7

Windows F7 islevi

@ Fs

Windows F8 islevi

@ Fo

Windows F9 islevi

@ F10

Windows F10 islevi

@ F11

Windows F11 islevi

@ F12

Windows F12 islevi

® 660 060666 6600

00 66 6

O
]
3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Harici PC Baglama

1. Harici PC'den video ve sesi gorlintilemek icin asagidaki talimatlari izleyin:
Not: Harici PC'ler ekrana HDMI kablosu yoluyla da baglanabilir.
* Bir VGA kablosunu (15 pin) harici PC'nizden ekrandaki VGA GiRiSi baglanti noktasina
baglayin.
* Bir ses kablosunu harici PC'nizdeki SES CIKISI baglanti noktasindan ekrandaki SES GiRiSi
baglanti noktasina baglayin.
2. Bir USB kablosunu harici PC'ye ekranin DOKUNMA CIKISI baglanti noktasindan baglayin.
Not: Optimum sonuglar igin harici bilgisayarin giris ¢6zlnUrlGgU olarak 1920x1080p segin.

= EEx % i =E . ‘
E TOUCH2 :

&80 Il-- % mmj

E VGA :

E l 5

| SES GIRiSi !

___________

> RS232 Baglantilan

Ekraninizi harici bir bilgisayara baglamak igin bir RS232 seri baglanti noktasi kablosu kullanirken, gli¢
acma/kapatma, ses ayari vb. dahil bazi islevler PC ile kontrol edilebilir.

’ N Seri Baglanti Noktasi Kablosu

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> USB Cevre Birimlerini Baglama

1. USB Cevre Birimleri: USB cihazi kablosunu USB GIRIS baglanti noktasina takin.
2. Agve modem kablolari: Yonlendirici kablosunu LAN GIRISi baglanti noktasina takin.
3.  Mikrofon: Mikrofon kablosunu MIC baglanti noktasina takin.

= [E==

Jy e=o[G D=

| vontendirici ve dis
A —— onlendirici ve diger
@ﬁ ag sinyali ¢ikisi
%

= [
= =|[E3]|H+

. @& | D

=l ===

___________

> Kullanima Basla

AC GIRISI

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o




> Uyumluluk Bilgileri

FCC Uyumluluk Bildirimi: Bu aygit, FCC Kurallari kisim 15'e uygundur. Kullanim asagidaki iki kosula
baghidir: (1) Bu aygit zararl girisime neden olamaz ve (2) bu aygit istenmeyen ¢alismaya neden olabilen
girisim dahil olmak Gizere alinan her tirla girisimi kabul etmelidir.

Industry Canada ICES-003 Uyumu: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (US/Kanada/Latin Amerika)
5 . www.viewsonic.com/support/product-registration

Amerika Birlesik Devletleri

T 1-800-688-6688
8 customerservice@viewsonic.com

Kanada

T 1-866-463-4775
£ customerservice@viewsonic.com

Porto Riko & Virgin Islands

= http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

Latin Amerika

2 http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

_ _ L 5 IFP50-3 series_QSG_1b_TRK_20200210
ViewSonic Destek Merkezi Istege Bagli Aksesuar Telif Hakki © 2020 ViewSonic Corporation. Tam haklari saklidir.



> 96199 Tunaavussy

e {1l (Aadvluvvniiaim) e azuailimas RS232

¢ 3TunAauinia e Vintlu x 5

e LuAaLARY AAA X 2 e LKNUNKAY

e &aALda USB e &N3

e 1hnm U= o a1l leidu HDMI

e @iial3uduatinmIats

0o

O
O
0o

0000
0000
0000
X
N

020 e

000
00
00

AS'T
AS'T

~

D

@@W

9,04




> AdYANNITAAERNTIY (VESA)

Il
N
=
o B i
\
i
ecly
i ©
| A
\
I = h—
i 223 a3aLNIL VESA (A x B) AN3U1055U (Cx D) AU
IFP5550 - 55” 400 x 200 uu. M8 x 25 uu. 4
IFP6550 - 65” 600 x 400 1. M8 x 25 uu. 4
IFP7550 - 75” 800 x 400 uu. M8 x 25 uu. 4
IFP8650 - 86” 800 x 600 . M8 x 25 Uu. 4
S8
Ll'l
o]
g -] \
a w
b Q601 & o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ D000 OO0 0o 0 = A
-—EFE'-E-B'-Eb—-—-—E—E—E-—i—-E—E—EJ—-—-—
!
5 8 ————— S — e B L S S gl |-+
i 25, |
0 “| i il
b — o — T — § —_— S . A e - = = —E0— -
0 0 0D 000D : o000 ofBl oo o - F
T
KN
i 08
a 2
: /




> AaANMUNSILLALIAURIIAAANA N USLUANSARNRY




> AMWIIULNIAIUAN
® 0 6 ©6 6 6 6 0
-+ttt 1

DO®6 6 @ e =

578015 | A1adune

nalufiiatdaia3availnsal
nalufitiacd/de TWAundenisudaInatvingu
naluiidviatdainiavalnsal

AluUFAULNaTINALATAILRUNAN

NAUFTEAUARUNTINYILATAILEY

GanuyWedtfu

AATYAULRE

LANTYAULR B

wase USB dnsutadadtauludl way PC analu

0000000 O

SudyanalannilunAauinga

> wasa I/0

gaanlu PC Auduailnsaidaiiin
VPC15-WP / VPC16-WP / VPC17-WP

Touch 1 &%5u HDMI1 & HDMI2

Tuga WiFi
iiduailnsaldalfia
LB-WIFI-001




> AN TUNAAUINSGA

00

natiatda/daaudadng

0 <«

da&eav / l&@ndal&eav

@® DisPLAY

LEAITIDYRUDIUNRRIS
ayaunaifaqiiu

© rMODE
$BU1ABINY

© FrEEZE
NLAKRUTIR

e Numeric button
duilausiau

© -/—/AT+TAB

AALNARAUTZI IO
alUwdiatiu PC

O o

Yutlausiau

© o /AT

fautineine PC ifaqiiu

@ NPUT

Judandeyauna

@® WMENU
NALNaLEAILNY

@ ReED+ALT
Juawniinaa

@® GREEN:TAB

1y ‘Tab’ uav PC

@ YELLOW+DESKTOP

gduldfoaadnal PC lusgdan

@ BLUE+BACKSPACE
1Ju ‘Backspace’ uav PC
@ START/D.MENU
1y *‘Windows' uag PC

® B/DTITLE

1u ‘Menu’ aag PC

® A

naLialdaudu

® <

naLiatdanldnivdne

D>

AaLAatdanldnivan

2108 4

AaLNaLRaURY

@ ENTER
1u Enter natiatdandidan

@ /D uss
Guaanduisnsdau
@) ESC/EXIT/D.SETUP

Jumvdatdaaanan
AnaavlsAmaL

@& EpPG

aAXU

@ FAV/ SPACE
1Ju ‘Space’ uav PC
@) CH.+/CH.-

CH+ : sithAauwntihaag PC
CH- : wihédn'lduas PC

@ voL+/voL-
Juriin / an

@ F1

WedAu F1 aas Windows

@ r2

WoAdu F2 aas Windows

QP r3

WoAu F3 aas Windows

@ F4

WaeAu F4 aa9 Windows

@ Fs5

WeAu F5 aas Windows

@ Fe

WedAu F6 aas Windows

@ F7

WedAu F7 aas Windows

@ Fs

WerAdu F8 wagy Windows

@ Fo

WadAu FO aas Windows

@ F10

WerAzu F10 aas Windows

@ F11

WerAdu F11 aas Windows

@ F12

WeAu F12 2av Windows

® 660 060666 6600

00 66 6

O
[]

SLEEP DISPLAY P.MODE FREEZE

3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

>

D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> NNstdiaueady PC Anauan

a v

1.  wadavnsudadiIflanaztdavann PC anauan Widiicienudtusiisua:
uaaie: fusatiausadu PC anauaniunitvana HDMI laaae
o LausdasaALia VGA (15 Wu) 31n PC anauanuavaatlddonasan VGA IN uulaus
AVHA
o LansasaLALdat&avannwasan AUDIO OUT uu PC anauanuavaatlidfonasa AUDIO
IN vuAURAINR
2. ausdaxawacda USB lddy PC anauan 3nnwasa TOUCH OUT uavausnina

RUNEUA: LNANRANENANFA TilRanmNuRsLdgaF N auaILAIaIAaNTILAATANEUAN
tilu 1920x1080p

= EEx % i =E . ‘
E TOUCH2

(0(&5) o) ! |-- 5 mmj

E VGA E

E l g

,  AUDIOIN |

___________

> nsidianaa RS232

Wanaldsawatdianasanaunsy RS232 atiancalansgaina’lifonaniiinasanauan Auxe
gusamuaueAduuivacinglaaia PC dvisenaudianiside/dataiad nsdFuseauldas wazau 9

4 \ fugdiBaanase

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> Asttaucanualnsaiananie USB

1. adnsaisaniv USB: i&auaatatdaadnsal USB avlunwasa USB IN
2.  &eacdarasazng wartuey: wlausgaatdasnasadluwasa LAN IN
3. ity WRausgawadaluiasinuaglunase MIC

(e =]
o] ]
[ ]

aunsal USB /=iy

[[a]

@IEWARY IR
LayLAIaNaay

i

|
:
|
|

r—— ==

S - _—— - - -

___________

> 1Buladvu

ViewSonic




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o




> ALAAILALNALANUIANAIDY

fiagunavAudanaldavaay FCC: alnsalfilinauantifiaseaungiativdu FCC &ui 15 n1svineu
davduldeudaularaviiasalidl: (1) alnsaifisaslinalitianissuniufitduduasa uay (2)
alnsalfisiasnusanissuniuiilasu syuvivnissumuiaranaliinnisvinouilinsdsead
finaisuliGauaniviua Industry Canada ICES-003: CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation (US/uauian/azfiuatuznn)
5 . www.viewsonic.com/support/product-registration

g gus§a1usn
T 1-800-688-6688
8 customerservice@viewsonic.com

wauInn
T 1-866-463-4775
£ customerservice@viewsonic.com

iwas1ie31A & uitnzasuy
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

[arfiuatuaNN
&= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

. A o . . . - IFP50-3 series_QSG_1b_THA_ 20200210
Auguan1sauuaYU ViewSonic alnsalidBudiatiiy Copyright © 2020 ViewSonic Corporation & u8u&ns



> I{7|X] LHE=

oTI A0l (X|YWR 22| HB) e Rrs232 0 HE

o2|E74 o 2 5 7Y

o AAA T HHE{2| 2 74 o 7t 2} 20| E

e USB A 0|2 o LIAL

o E{X| T e HDMI 2} 2 2tk|= 4= 70| =

o h2 X% 7to|=

0o

O
O
0o

0000
0000
0000
X
N

~

)

9.9

\)\\\\ W

W




11
i
=
% "“
B <
\
i
ety
I8 ©
| A
\
| — —
Qx| VESA At2F (A x B) HE L} (cxD) -
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
A6
Ll'l
o]
g -] \
& i
: 96041 3 o
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ T o000 OG0 00 0 s A
-—EFE'-E-B'-Eb—-—-—E—E—E-—i—-E—E—EJ—-—-—
!
2l 8 —|——F——- L . B L S S 8 |+
i 25, |
i “| i il
e —a— = — = 3 —_— e e o e = A ARt = e . e == B =
0 00 0 0D oo0o ; oooo ol oooo - F
T
KN
i 7§
9 2
: /




I

S > E
. S

X

|

—

—




g2 | MY
A2 AH{® o] 7|2 FELC}
Cj~Za]o] Wato| =0t MLt #H2{® 0] 7|2 £ELIC
AX2 maf 0] 7|12 A FELU

L& 22010 = 2IHH| 0| A= S0t7t7|

L& 22010 O] 2|2 =2 S0t

7ls w2827

M2l &&2lpc

VPC15-WP / VPC16-WP / VPC17-WP

usB  UsB HDMI

N

SMol wifi 2 &
LB-WIFI-001




> |27 7
0o

ClAE20[S TAHL A2
L|Ct

=
e
0 «
S271/827) ofH

DISPLAY
| 2 AA0o| C|AZY 0|

ox ret
I-E >~

rc
s ©
= 13

tot
I'E@
ox M
> A
m
N
m

Numeric button
A 2 B E
© -/—/AT+TAB

COfZ2[# 0] M Ztof|
mMabstam =210}
AL

b

@ NPUT

A M HE
@® WMENU
Ol wS EAISH T

@ ReED+ALT
otH A

FEHCt

® GREEN:TAB
PC ‘Tab’ HE
@ YELLOW+DESKTOP

s2olpcHig gBoR
MsgCt

@ BLUE+BACKSPACE
PC ‘Backspace’ HHE

@ START/D.MENU
PC ‘Windows’ H{&

® B /DTITLE

PC ‘Menu’ HHE

® A

g—’—*’.‘-;i A3 55

D »

@ &/D.uss
MI| AT EQO| A|Z
@ ESC/EXIT/D.SETUP
et 84X SR5H=
o2 717 B E

@& EpPG

FE2

@ FAV/ SPACE

PC ‘Space’ H{E

@) CH.+/CH.-
CH+: PC O H|O| X|
CH-: PC Ct& T O K|
@ voL+/voL-

=5 =071/&=F7|

@ F1

Windows F1 7| &

@ r2

Windows F2 7|

QP r3

Windows F3 7|

@ F4

Windows F4 7|

(33

Windows F5 7| &

@ Fe

Windows F6 7| &

@ Fr7

Windows F7 7| &

@ Fs

Windows F8 7| &

@ Fo

Windows F9 7| &

@ F10

Windows F10 7| &

@ F11

Windows F11 7| &

@ F12

Windows F12 7| &

=2yt

oeszZoz A3EYM FEL|T}

2 11 4

otefj2 A3 524 H +FLICt

® 660 060666 6600 @8

00 66 6

O
[]

SLEEP DISPLAY PMODE  FREEZE

3
4 6
l4 -

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

D.TITLE

B

>

D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




> Q| pc HAHG}7|

1. 2F pCc O HIC|IQQ AFREE M52 ™ ofefel X[ &S MEMA| L.
EﬂQWPC““dHMMﬁNE St A =
. WAﬂmeH9%§9h¢dﬁIﬁ%HNﬂwmﬂaiégmgaq
o QL AHOIEZ QF Pco 2L £ ZEQ}C|AER
AZstL|Ct,
2. USBHOIZE CIAEY OIS HX| £ ZEQQE pc E ¢
B X HMo| ZNtE @oe{H E HFEH g

ru|o
OHH

N C I == % i =E . ‘
E TOUCH2 :

(0582 0) 1 [ F =¥ mmj

E VGA :

E l 5

| erje 9 !

___________

Rs232 X8 ZLE 70|22 AIE5I0 C|AS20| S 2/ F HREO HZ5HHE P& AH7|/07], =5
ZE S5 7sErclM MO = ASLICL
gmToTmmoos \ N E Aol

___________ ——N\

Q
Q
=
\\__.-\\




> USB TH &X| HZES}7|

1. UsBTH TX|:usB &X| AHO|=2 usB &3 LEO| =5 LLC.
2. HEQZ U ZH AO|S: 2t2H HO|=2 LAN €3 ZE0| =& L LT}
3. Ct
| ates o gt
A e T x /IE
@ﬁ HESYI M5 =
E
4
%
0 n
> HomI ¥ A
I, ---------- \|
] ]
—/
i == [ [&== =
! HDMI 1
\ ]
- .
> A2 A|ZES}H7|

ViewSonic




~

ViewSonic

‘0O©@ 0006006

IR

| 3

ViewSonic

‘0O© 000006




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O © 0000 uv oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 m o




> Hghd Mo

Fecc HEE MA: 2 YX|=rec 8 N 15 R E T LLCHL 7|7] &&0= Che 5 7HX| 20| =)
HMEELICL (1) Ol HX= 7oliet 742 Lo 7|X| RFol (2) Ol K& YA Y= 252 2o

= JAe S 25t o 2t S B2t 0| & A E 5= A0 OF gL L

FHLICE A5 1CES-003 T#E == CAN ICES-3 (B)/NMB-3 (B)

ViewSonic Corporation (0| =/7HLIC}/2}El OFH| 2|7}
£ : www.viewsonic.com/support/product-registration

Q o=

T 1-800-688-6688
24 customerservice@viewsonic.com

7HLECE
T 1-866-463-4775
£ customerservice@viewsonic.com

FO2EEC|TQ HEIOILHE
2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

2tEl ofH| 2|7}
& http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

IFP50-3 series_QSG_1a_KRN_20200831

. . o N
ViewSonic X| 2 Al E'I Copyright © 2019 ViewSonic Corporation. 2 & #$H0| EF-E.



> BERATY
® TR (KIELE ) ® RS232 B
® =i ® 37 x 5
® AAA it x 2 ® B
® USB #% @ 1244
® iz ® £ HDMI 485 H03A8E4R
® i A PSR
r

e E

0000Bo
DDDD%
000000
A\
N

ol
ol
o0

Q

0
0

-
©)
(-

y

op
O O
(aalb

0
0
0

000
000
000

~

[

\\\\\\Q\\\ \\\\\\‘
%, ))JJJ)
\\)J}\l\ \\:))j))J

@i




> EERE 4 7R1E (VESA)

11
i
=
3. B i
\
i
ety
14 @
i A
\
| - —J
=S VESA #R1&(A x B) 1REEIRL% (Cx D) L
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65” 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
g
Ll'l
o
g -] \
& w
- mi [-] ﬂ
§ 3 o
A0xd=160] ¢ 520 g | 40ma=160 e "
: 402=60 120 _ 40x2=80 H 5 g
: | & o
CIECEE k-1 T [ T o000 OG0 00 0 s A
-—EFE'-E-B'-Eb—-—-—E—E—E-—i—-E—E—EJ—-—-—
|
2l 8 —|——F——- L . B L S S 8 |+
i 25, |
i “| i il
e —a— = — = 3 —_— e e o e = A ARt = e . e == B =
0 00 0 0D oo0o ; oooo ol oooo - F
T
I
i 7§
Q S
: /




2
AR

A
i
R

i

—

|

—

—




> 12 il T A ABE &

BN RO UK E
BN ZRORIRL / BB B
BB REMKE

RERAERSZENE

E2]RANER R E—E

R B ATUIE AR K BB PC By USB 18

0000000 O

FRWE TR RVAN 5%

> 1/0 EIFIE

EBEELEN
VPC15-WP / VPC16-WP / VPC17-WP

ale i
S AN - 1
) i =TE i VGA
 \——_
HOMI USB O ‘& VA & HDMI IN3(CEC) TOUCH 2 (
il h )
\ |

.\ .

BB wifi 124H
LB-WIFI-001




> EIER e
L1 O

TN OJRARL / RARARE RS

k

BE/ BREE

@® DisPLAY

BN E R ARIRRER

© rMODE
EHEMA

© FrEEZE

%2 HE1S

e Numeric button
Hrm A\t

© -/—/AT+TAB
BN EEKERER
2 Bt

O o

Hr@m ARt

© co/ALTH4
R BRI PCRE

@ NPUT

FORE IR

@® WMENU

B o] BRINEERR

@ ReED+ALT

S HERREY

@® GREEN:TAB

PC Tab) %8R

@ YELLOW+DESKTOP
TR EHHET PC R EH
@ BLUE+BACKSPACE
PC [ Backspace | ###f
@ START/D.MENU
PC ['Windows | Z§f

® B/DTITLE

PC [Menu | #Z&h

® A

B holE e

® <

B Moo EEe

D »

i NEICIEaE 3 2)

2108 4

el N3 0)

@ ENTER

WA - % MolEEEIR -

@ /D uss
ERESRIE

@ ESC/EXIT/D.SETUP
FIZRIR ¥ 5a 75 AV RIS % 6

@& EpPG

R[]

@ FAV/ SPACE
PC [Space | #%#if
@) CH.+/CH.-

CH+: PC E—E
CH-: PC F—EH

@ voL+/voL-
e/ EEEE

@ F1

Windows F1 IN8E

@ r2

Windows F2 JI8E

QP r3

Windows F3 JI8E

@ F4

Windows F4 Th8E

@ Fs5

Windows F5 Jh8E

@ Fe

Windows F6 INEE

@ F7

Windows F7 IhEE

@ Fs

Windows F8 IhEE

@ Fo

Windows F9 IhEE

@ F10

Windows F10 Ih8E

@ F11

Windows F11 Ih8E

@ F12

Windows F12 IEE

® 660 060666 6600 @8

00 66 6

O

[ ]
1 3
4 6
7 9

ALT+TAB ALT+F4q

== co

ASPECT

TAB DESKTQP

'

D.TITLE

B

< ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 606060 66 6 6660 6 666 O




RSP E R

1. BEBRTKBINSERNEENES - BB N RIERIEE

Bt . NBRERNt O] DIE SR HOMI ARIEE R FERES -

o 1% VGA #R (15 3ZH ) 1EINEREE N EIZ R FE/RERHY VGA IN 3EIFIB -

o B EHARNEINEBEPLHY AUDIO OUT EFFIBEZRZE 2300 AUDIO IN EFIE -
2. 1% USB ZF 1 EAR23AY TOUCH OUT I8 RN B EE AN -

it . BEERENSE - RIS 1920x1080p U BEISH8ARRATE -
E (=) E =P )t - :I
E TOUCH2 :
(0% o) (mI=3=s i
| VGA :
: : /Z’L’%ﬁ%@%&ﬁ\
| ! 5
' OERBA
> RS232 iEiE

£ Rs232 FR3IREERF BN ERZ RN EBIR - I 2BEMEHIFELEINEE - BRERFARM

X}

PR \ FrlEES

D=L}

___________ ——N\

_-__-__

o0

)

o

)

o

So

o
S m ==
r@




> #iF usB BB E

1. USBRAZEIKE : i USB REEEARIEA USB IN EZIE -
MBS BUIB B « RISHREEGRAA LAN IN EiZE -
3. Hwmhll : BERREEZEFEA MICEEE -

N

BE =R & ELfth 4R R

\@ @ ﬁ\ ' BT

USB %15

) ={[E)}=m

Jy e=o[G D=

e={C
= =|[E3]|H+

)
@@

___________

> BtafEr ]

]

]

]

(O

]

[ PR E“\\
ViewSoﬂic“




~

I

v
L ViewSonic ‘OO0 00O mw oo
(e

-

a\
v
ViewSonic ‘O 00OO B oo




~

Ceneral @ Embedded 0S O
/
Input Y
@@ »r-
Oonin  my Sowie. e ot
v
0000
L ViewSonic ‘0O© 0000 v oo
[t
General
Embedded 0S
Input

ViewSonic

‘00000 = o




> FEMHER
FeC HALERNR : AR FeCRAIE 15 BAWMRT - MEHBUTMERDR : (1) AEEL

EEMBENTE DR Q) AEBEVERESTOBEWINTE  SRENREARNTE -
MNZE AT ZE0 1ICES-003 TS 14 : CAN ICES-3 (B)/NMB-3(B)

@ ViewSonic Corporation ( =B / IIEX / 1T =)

L1 : www.viewsonic.com/support/product-registration

Q xn
T 1-800-688-6688
Q, customerservice@viewsonic.com

MEX
B 1-866-463-4775
8, customerservice@viewsonic.com

NERENEREES

2 http://www.viewsonic.com/la/soporte/servicio-tecnico (Espafiol)

LT =M

&= http://www.viewsonic.com/la/soporte/servicio-tecnico-la/

IFP50-3 series_QSG_1b_TCH_20200210

ViewSonic ZE4 () hR#EFT7 © 2020 ViewSonic Corporation. fREBFTE R -




> {1E i

o HDMI 77— )b o JTTAASTL—h o (Relf =
e USB Type A/Br—7 )b e JITAXATHRY x4
e BRT—TIU e RS232 7R TR —
o JEOV o T—J VIS T x5
o EHUTE M x 2 o BEER{FIF I x4
o XYyFNRU X2 o VA YVIRZ—bAAR
r

ajalalels(e
00003
000000
A\
N

o0
ol
o0

Q

U
0

y

0
oo (10
]

0
0
0

000
000
000

~

[

@}\\@)JJJJ)
<\ §§\\
\\\))\)\)\‘\\ \\S»)J)J

Q§)




> EEEVY{F (%Y FDO{LER (VESA)

L]
=
o B i
\
ii
et
14 @
| A
\
| — —J
B4 X5 (BUE) VESA{1#% (A x B) 12X (CxD) HeE
IFP5550 - 55” 400 x 200 mm M8 x 25 mm 4
IFP6550 - 65" 600 x 400 mm M8 x 25 mm 4
IFP7550 - 75" 800 x 400 mm M8 x 25 mm 4
IFP8650 - 86” 800 x 600 mm M8 x 25 mm 4
L
o
g -] \
z wy
: 96011 2 o
§ 3 o
A0x4=160] ¢ 520 g | 40md=160 =1 I .
: 400=80 120 _ 40x2=80 3 g5 g
: | & o
0 0o0o0&fo 0000 [ D oO0O0O|6f0 00 0 s A
-—EFE'-E-B'-Eb—-—-—E—E—E-—i—-E—E—EJ—-—-—
|
5 8 —|———— S — s B L S S gl |-+
i 25, |
i “| i il
b — o — T — § —_— ===~ —— - = = —E0— -
0 00 0 0D oo0o ; oooo ol oo oo - F
T
KN
i s
@ =
2 /




10 cm
(4-1>F)

S T T N

»O84y
VV VV
P g
a
o QA \
LA

> RERIREICEHTSEEFEH



R EHRLT. AEOERZANET,
REVERLT, AMEDNY IS4 NDHEF VERIEF TICLET,
RV ERLETDE. FEOERDSA TITHYVET,

ViewBoard 7L —Y—0DK— LEEICRE S,

ViewBoard 7L —V—DrIOX—I IR S,

ViewBoard 7L —¥—8& KU pc B USB R— I,

QG@@GQQ ©

JEIVLY—IN—

-k
N I—3

4 )

7 avoROy kA pC
VPC15-WP / VPC16-WP / VPC17-WP

SN

F7avOWi-Fi EYa—Ib

LB-WIFI-001




> UEIVDIE

00
FEDERES > |7 T
MVEZET

0 <«

21— FOBER/RR

@® DisPLAY

WEDATIY —RADIFHR%ZE
®RLET

© rMODE
7oV Em|

© FrEEZE
BEEEZ7!)—X
e Numeric button
HFR2>

© -/—/AT+TAB

PCc 7T r— 3 Y

BAET

O o

BFERE Y

© o /AT
WEDPCT 1V RU%R
C&Ed

@ NPUT

ASY —ADER

® MENU
AZ1—ERRLET
@ ReED+ALT
BEF Y TF v

@® GREEN:TAB

PC D [Tab] K& >

@ YELLOW+DESKTOP
AQY A2V PCDTRY
by ZICIBEZET
@ BLUE+BACKSPACE
PC O [Backspace] 7RZ >/
@ START/D.MENU
PC @ [Windows] R& >/
® B /DTITLE

PC D [Menu] RZ >/

® a
FicX7o—ILLET

® <«
EICR7O0—-)VLEd

D »

BlcA7O—)LLET

2100 4

TcAZ7O—ILLET

@ ENTER

Enter IRAX >/,
FTavEBRRLEY,

@ &/ p.uss

EERARYV T b T T EEE

LET
@) ESC/EXIT/D.SETUP

RAT7ATRY VR ERTTS

Ya—bhy bREY
P EPG

R%

@ FAV/ SPACE

PC O [Space] RZR >/
@) CH.+/CH.-

CH+: PC DEIDN—
CH-: PC DRDR—

@ voL+/voL-
BEZLIFB/ TS

@ F1

Windows D F1 DIERE

@ r2

Windows @ F2 DREEE

@ F3

Windows @ F3 DREEE

@ F4

Windows @ F4 DREEE

(33

Windows @ F5 DEEEE

@ Fe

Windows O F6 DHERE

@ F7

Windows @ F7 DRERE

@ Fs

Windows D F8 DHLRE

@ Fo

Windows @ F9 DHLRE

@ F1o0

Windows @ F10 DI%EE

@ F1

Windows @ F11 DI%EE

@ F12

Windows @ F12 DI%EE

® 660 06666 600

0060 606 6

|
SLEEP DISPLAY P.MODE FREEZE

W -

ALT+TAB ALT+F4

= €S

ASPECT

TAB DESKTQPE

A

D.TITLE

B

4 ENTER >

v D.SETUP

ESC/EXIT

ViewSonic

® 06060 66 6 6660 6 666 O




> &R PCc ZziEHLET

1. NAEPCHLSOMGERRL. YUY NEHEANT S5 UTOFIBEIRE>TL W
FEEIE . NS PC A HDMI 7 — 7))L %= $2H L T ViewBoard (i AT EDTEE T,
« VGA4—TIL (15 EY) ZE>T. AERPC & ViewBoard @ D-sub Af37R— b ok LT <
eEW
o« FA—TaFT—TIVEFE>T. NELPCOEEHIIR— % ViewBoard DEEASTIRAT L
FIZIvuuIcERELTETY
2. USBType A/B4—7)L7%E>7T. ViewBoard D3R v FHIKR— b ZHNEPC D USB Type A
A— MTEFR L TLIEEN,
ABEE REG/NTA— ?/Z%H%ﬁ L\ﬂﬁwcwkﬁMQEM7WHD®
1920x1080p THRE L TL 2E

= = == =}
Eﬁv?ﬁ—hzi

(0(&5) o) ! (== mmj
E D - sub E

E l 5

. BEAN

___________

> RS232 1EHi

RS232 )77V —7 V%R L T ViewBoard =588 PC IRt T B & BIRDF >/4 7. BERER
E. BEDHEEE N8 PC THIEITEE T,

SEREEEEEbh Vo RS22VUTIVE—Rr—TIb

D=L}

___________ ——N\

_-__-__
50
)
o
)
o
oo
o
S m ==
r@




> USB FEEZEHRLET

1. USB EOHERSR © uSB 7 — )& USB ASIR— MR L TS IEEL,
2. XV bNIT—=URETFTLT—TIV: Jb—F2—=4—T %k LAN R— MIEFHE L TLIREL,
3. XAV RAVT—TIVEIATR—FMEERLTLIEETL,

O 0000 0000 0000

UsB A0k %ﬁ%ﬁﬁ%ﬁﬁ@ @§ %;)f:lgéglef?—b
i =5

HilE==
E0=

Jj =
S =

i
iH

== ||[EF|IH

i
:

=[x

XERIEA TV 3>vDROy h1 Y PCTY,

> HDMI ¥£8xE

—B [[e=1=

i
¥

___________

> [EFIERIAT 3 2

]

]

]

(O

]

[ PR E“\\
ViewSonic




~

ViewSonic

‘0O® 00606006

IR

|3

ViewSonic

‘0000006




~

General @ Embedded OS O
/
Input A
K-k
Cheamium. my  SeresnRecs. Voweeper  Foldes
v
0000
L ViewSonic ‘0O© 0000 B oo
[ st
General
Embedded OS
Input

ViewSonic

‘000000 = o




> AVTI14T7IAEH

FCCOAVTSAT VARBR: AEEBIL FCC 3R/ N— b 15 [TEMLTWE T, 1BIEIERD2 DDA
[CROBDELE T (1) AEBIFBEELGTHE5|ERITHEWVGELHIE T, (2) AEE X EX
LLGEWEEDREREEDFSEEH. RELIETHERIFANGZITNEGUEEA,
HFFFEEE 1CES-003 AT 5477 A CAN ICES-3(B)/NMB-3(B)

@ ViewSonic h A2 —HKR—F

[ : www.viewsonic.com/jp/support/

g HEWEHYE
T 050-3388-6832

L] www.viewsonic.com/jp/contact/
B service.jp@viewsonic.com

ViewSooniC IFP50-3 1) —X_QSG_la_JPN_20210
HARAEI—YR— bt Z2—

Copyright © 2021 ViewSonic Corporation. All rights reserved. iRMFAH,



&=~

RS232 (o« @ (Aalaial Cra il d8a U< @

Sllie 0 22c @ 2 e Sxitang @

Sl ds gl @ AAA L L Y 2xc @

SEne® USB JS e

HDMI ge 38 5 3 L) JS @ alll 18 @

cond) Jeiill s o

0o

O
O
0o

0000
0000
0000
\
N

@)})}}\\X)j g
S




2.0 o

(VESA) hially cupiil) a8tk cildial ga <

L
R
1] I
i
=
Y- il
\
i
ety
I8 ©
|
\
dpagl) (C x D) ik £ VESA (A x B) cliual sa day
¢ ~ Yo x M8 FPARIE S i IFP5550 - 55
¢ o Yo x M8 b x T 45 IFP6550 - 65
¢ a YO X M8 pebe e X A ian |IFP7550 - 75
¢ o Yo x M8 aa Tee X A i IFP8650 - 86
A6
o
g -] \
& w
b Q601 & o
[: [-] od
40x4=160 i 520 2 40n4=160 & "
i 40x2=80 120 _ 40x2=80 $ | g
| L
G 00O éf0 0000 [ Dooo0 OG0 00 0 s ]
—E - P — - — - — - —i—-a—a—e:&—-—-—
|
5 8 ————— S — e B L S S gl |-+
i 25, |
i “| |
=k — = § —_— S . A e - = = —E0— -
0 00 0 0D oo0o i oooo ol oooo - F
J 8§ 2
b+
9 2
: /




S il Ay daldl) cilguiill

—

|

—

—




=

asaill da gl o dale 3 k1 <

1 1 1

o 6 0 6 6 6 6 0 o0 ¢
r + r +r 1 1 71

OW® @ @ @ @) : m ——

ha gl

b

Losh AaLall Aalal) selay) Jands [ Jaands Gl AUl s e Ll

Sleall Janid Ul 13 e aie)

Lacaall Al Jictiall Ggal 5 ) 53 52l

Granmall Jiiall Gl (5 il ) g 52

Ll dads 5 ) Juay)

G geall (5 siua 334 )

35Sl Slea s Ganmall Jrsiall USB i

2 oo aSadll Bas e D LAY Jiiy

z ANJAY i ¢

B P WA R
VPC15-WP / VPC16-WP / VPC17-WP

a)a Wifisass
LB-WIFI-001




B e aSadl) Baag o dale 31

ENTER P Q)
e Laalls 5 eyl ALl Jadal 30 1 e Ll
SR | weEda
| T (&) OFF / (Jass) ON
(1) O = o &/p.uss P % @
SLEEP DISPLAY P.MODE FREEZI ° -"a.;l:&l\ &AU‘)"' d,_uuﬁ i Q}A‘ PSS ;bd\ / Q}‘A‘ ?:‘S
© @  ESC/EXT/D.SETUP (Y DISPLAY @
2 3 e gl il ) O Claslas (s
= S 6 PG B PMODE @
i 8 9 FAV/ SPACE (® FREEZE @
ALT+TAB ALT+Fq )sﬁMSM )"PJ ual;.“ Al 20 aalal Arandy €)§£
o Z 0 co ° CH.+/CH.- @ Numeric button °
Al dadall Mg s ) +CH )
0o il s e N Jaay 5
ASPECT :1,33\.'\3\ iaaall LJ\ d@w : _CH L
® — ® ol e / /ALT?rTAB (V)
® voL+/ voL- @ G il 530 13 e Lkl
g ‘ ® Gpaall (5 gl (i 320 SsnaSll Jlea ik
@ : TZEL: (V] F1 @ 0 °
® Windows sl F1 4k BN Jasy)
® D 2 @ Co/ALT+F4 @)
® > Windows o F2 2ik Alall 5l 8380 BEL o 4
D.SETUP 0 F3 @ INPUT 0
& G @ Windows ali; F3 &k s a2 )
® ® 42 @ MENU @
Windows Ui F4 4 Al o el 30 0 e daral
P ® F5 @ RED+ALT @)
Windows s F5 sk s Lalailly o gy
@ F6 @ GREEN+TAB B
® (v ] Windows Ui F6 dda sl lea fCu st dadle’ )
® @ F7 @ YELLOW+DESKTOP ()
® Windows Uais F7 dda e i el At ) Qi
ol @ F8 @ BLUE+BACKSPACE (B
® ® Windows oai F8 2adas 5 oKl jlean (alall ‘Galall dilus’ )
® Fo @ START/D.MENU §
® Windows oday F9 dak, o= ‘Windows %%Leﬁ
Hx D
Fio @ B/DTITLE @
ViewSonic Windows alsi; F10 4k s el Slea Al 5
F11 @ A QO
Windows alais F11 4 oY el 530 13 e daaal
F12 @ 4 @
Windows sUai F12 4k Dbl ol 501 s e sl

> d

Ol e saill 30 13 e L

vo

Jal oall ol 1 e sl



A Sgal e bas <

il 520 sl ilaeil) @ Ll o8 ¢ A yigneS e sl o A guall plaliall 5 soadl) ahalia (el -)
HDMI JS e 485G L JAN) i g0aSl) 5 jea] Jana 53 Wl (S0 14N
352 5all VGA IN daall ddiay ey aladl oo Jall isasll Slea o (0 V0 00 05S) VGA US diasiv ad - o
Al e
AUDIO IN Ja diiay s sl 55 sl 3 5a sall AUDIO OUT 258l Sk (e & goall JS Juuca iy i o
AL 3 5 54l
AL 352 5l TOUCH OUT oAl d8ie (e (a5 00afIL USB JS Joagia a8 =Y
e AN 5 gaeSl JAs 38 i Y0 A x Y AY s daa clill Juadl e J seanll 1A

A - e —

E TOUCH2 E

eEgo (mir—s =

! VGA o

I : /Z%%%%%%&ﬁ\
s s ; :

. AUDIOIN |

___________

RS232 cluay <

Goob e il Sl ey 8 aSatl (S b cn A S lens HiSLE (a5 RS232 kol 3ill JS plasind xie
3l I3 e 5 paall (s sinnn Janin s ol Caliy) / Qo) b ey ¢ i Sl Slen

___________ ——N\

Q
Q
=
\\__.-\\




=

- - - - -

dh k) USB 53¢l Jsasi <

JUSB IN Jaall 31y USB Jlea JS o sy a8 1A yhall USB 5 3eal -9
LAN IN Jaall diey axa 6l J€ Jooa o a8 1Kl g a0 gall QOS2
MIC 28y 85 Saall JS o g a8 10 585 Saall Y

: > A dile g 4 gl )
N | A Mg ang 4

; = T ——IL "
USB Je» 55 fuu\ O @ ﬁ mT ) s AT A 5L

) =[G D=

Jy e=o[G D=

= =|[E3]|H+

HDMI| <Maasi <

B r—y—H [ ===

S - _—— - - -

___________

e\dﬂu.n‘f\ s £

ONSN
,zl
~ (=)
hd
N\
7\

ViewSonic




~

I

v
L ViewSonic ‘0000000 m oo
(e

-

a\
v
ViewSonic ‘O 0OO b oo




p
-2
General
@ Embedded 0S O
\ /
2 Input Y
@@ »r-
Ll e
v
0000 e
=]
[l iulr
L ViewSonic ‘0O © 00000 oo
—
General
Embedded 0S
> Input

ViewSonic ‘000000 oo




JuiaY) ol <

Al el VLAY Ll ae) 8 (e 10 ¢ all e Sleadl 138 (381 55 158 53 e glaal (FCC) Al ol clady) Adad ol
(Jitiae Jals gl Sleadl 138 Jai o (V) 5 < Jla a1 Cusan 6 Sleadl 138y VT (1) 2ol Gada i) ) 4liad adady
st e e el gl gl adle (i iy 38 A Jalal el b Ly

CAN ICES-3 (B)/NMB-3(B) :4;:is!) dsliall ICES-003 JEiaY) e

=

(AU 1y yal /128 / Basial) @Y 6Y) ViewSonic 4S 4 @
www.viewsonic.com/support/product-registration : d

Baadial) LY gl g

VoA e STAASTIAAN B
customerservice@viewsonic.com &
Jais

V-ATT-gY-tvve T
customerservice@yviewsonic.com 52

o Ly S A
http://www.viewsonic.com/la/soporte/servicio-tecnico (Espaiol) &

Al 1S al
http://www.viewsonic.com/la/soporte/servicio-tecnico-la/ &

IFP50-3 series_QSG_1b_ENG_20200210
&}md,sa.ll@.u ViewSonic 48 il dda géaa Y+ 19 Hlal )mn}@u G352 ©




N

ViewSonic




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




